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About ResoFAST:

ResoFAST (Resonance Forward Admission and Scholarship test) is a knowledge and aptitude test which is
conducted by Resonance Hyderabad centre in order to reach out, spot, reward & nurture talented students
from across telugu states and aid them in fulfilling their career aspirations.

For an aspiring student ResoFAST would provide bench marking along with a real world feel of competitive
spirit. It helps the student to showcase his/her talent in competitive exam pattern which will boost his/her
confidence to perform well in future competitive examinations & make way for a bright career ahead.

Every year ResoFAST filters the best talent through rigorous testing and has set examples of transforming the
top performers into top rankers in different competitive examinations. ResoFAST from Resonance Hyderabad
Centre welcomes all the students with a more refined structure and far more merit Scholarships and cash
prizes than ever. So take your first step towards a better future, Take ResoFAST now to explore, prove and
reward your talent!

Who can attend ResoFAST?

Students currently Studying 10th Class (Moving to 11th Class) will be eligible to write ResoFAST exam.

How ResoFAST will help you ?

< Student will get a comprehensive report, covering all domains in terms of subjects and aptitude, along
with areas requiring improvement & percentile score.

= ResoFAST will evaluate your Analytical Skills & guide you further to improve upon.

= ResoFAST will get evaluation of your 1Q specifically for NTSE, KVPY, various Olympiads, NEET, JEE Main
& JEE Advanced.

= Get general evaluation of your Analytical Skills required for success in various other careers & life.

= Have a clear & personalized picture of your subject preparation concept wise.

= Get an insight of where you could have been & what your scope of improvement is.

= Know what you can do to get desired & deserved performance in each
of your target exam

« Know your subject wise relative standing at the state Level.

<« Qualify for a Resonance Hyderabad Classroom / Integrated School Program or Live Online
Classroom Program

Examination Dates:

v 5th, 12th, 19th & 26th
E A= = »\ December 2021
=i==
= 5 == 2nd January 2022
FORWARD ADMISSION & SCHOLARSHIP TEST Only for class X
BY RESONANCE HYDERABAD Studying Students
20 CRORE WORTH 15 LAKHS L, 500+
MERIT SCHOLARSHIPS* CASH REWARDS TOTAL PRIZES
v Up to 100% Merit Scholarship v* Cash Rewards v Online / offline mode test option
v Know your potential in v Live chat with [IT/NIT/Medical
competitive exam pattern students of Resonance
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ResoFAST STAGE 1 PROCESS:

This exam will be conducted both in Online Mode (Home

based test by using own device (PC/Laptop/Mobile) and

offline mode at selective centres. This exam will be

conducted on 5th, 12th,19th, 26th December 2021and

2nd January 2022.

< Online Exam dates and timings : 5th, 12th, 19th, 26th
December 2021and 2nd January 2022. Students can
give the exam anytime during the login window (10:00
AM - 7:00 PM)

<« Offline Exam dates and timings : 5th, 12th , 19th,
26th December 2021and 2nd January 2022. Exam will
be conducted in two time slots and student will have
the flexibility to choose time slot as per availability.

Morning Slot : 10am- 1pm and Evening Slot : 2:30 pm - 5:

30 pm

Last Date to apply : 3 days before the exam both for

online and offline mode.

REWARDS FOR STAGE 1:

< Selective students will be offered scholarship UPTO
Rs.55,000 in the coaching fee in respective
Resonance Classroom/Online Courses for Academic
Session 2022-23 as per the below mentioned chart

= Students who score 250+ Marks in stage 1 will get
Rs.60,000 scholarship in the tuition fee and also get
eligibility to write Stage 2 Exam which will provide
Cash rewards and additional merit scholarship on
coaching fee

< Digital participation certificate will be given to every
student.

<= Top three students from every school will get
trophies and physical certificates

How to apply for ResoFAST?

Students who want to apply for ResoFAST can
login to www.resonancehyderabad.com and
apply by paying registration fee.

<= Rs. 300/- per student - Payable Online using
our secure payment gateway using Internet
Banking, Debit/Credit card or any other online
payment service you can also register by
visiting any of Resonance Centres in Hyderabad.
< Registration Cost is "FREE" for the Students
from JNV, KV, ARMY & Government Schools.

< You can also contact with ResoFAST Co-
ordination Cell for Registration Assistance on
9121219858 (9 AM to 7 PM)

ResoFAST Stage 1 Merit
Scholarship Chart
SNo.  StagelScore MeritScholarship
for 300 Marks
1 Upto 100 -
2 100 to 130 15,000
3 131-150 20,000
4 151 to 180 25,000
5 181 to 200 35,000
6 201 to 220 40,000
7 221-230 45,000
8 231 to 240 50,000
9 240 to 250 55,000
10 250+ marks 60000+ eligibility

ResoFAST STAGE 2 PROCESS:

Students who are appearing for ResoFAST
Stage 2 will have to write an exam which
will be conducted in Offline / CBT mode at
Resonance Hyderabad campuses. Followed
by that students will also have to attend an
interactive session with Reso faculty and
academic team of Resonance. Based on
score in this Stage 2 student will get
additional Merit scholarship in coaching fee
and top 500 students will get Cash rewards
as mentioned below

S.No

—

© 0O N o a »~» W DN

ResoFAST Stage2 additional Merit Scholarship
Chart as per Stage 2 Scores

ResoFAST Stage2 Score for Additional Merit

100 Marks Scholarship
Less than 30 0
30 10000
40 15000
50 20000
60 30000
70 40000
80 55000
90 65000
100 77000
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CASH REWARDS FOR TOP 500 STUDENTS: ResoFAST Stage 2 - Cash Rewards-Top

Top 500 Students of ResoFAST Stage 2 500 Students - Total 15 Lakhs Cash Rewards
will get rewarded with cash prizes as
per the chart mentioned below. Top

Ranker of ResoFAST Stage 2 will get 1
Lakh Cash Reward and total cash 1 1 1 L
rewards worth Rs.15 Lakhs will be given

S.No Rank No of winners Cash Reward(Rs)

2 2t 4
to 500 students. 05 50000
3 6to 10 5 25000
4 11 to0 20 10 12500
CONDITIONS FOR PRIZE:
5 21 to 50 30 7500

1. The Cash Reward will be given only to
those who will take admission in 6 50 to 100 50 3500
Resonance Hyderabad in session 2022-23.

2. No Award/Prize Money shall be handed
over in person to any of student's 8 200 to 500 300 1250

7 100 to 200 100 1750

relative/guardian or his/her
representative in any case.

3. Astudent has to produce required
documents to claim the Prize Money (as
required by Resonance).

4. Students using unfair means to enhance
the performance shall be disqualified
from ResoFAST & future Editions of the
event. The refund of participation fee
etc. shall not be applicable in this case.

5. Tie Breaker Rule: If Students secure
equal aggregate marks then higher rank
will be given by comparing subject scores
in priority of Maths, MAT, Physics, and
Chemistry & Biology. If all subject scores
are also equal then lower age student will
be given higher rank.

6. Mode of Prize: Only by RTGS directly in
Parents bank account.

7. ResoFAST Stage-1 is for Scholarships
Only.

8. ResoFAST Stage-2 is for Scholarship and
Cash Prize Only.
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HOW TO PREPARE FOR THE RESONANCE FARWARD ADMISSION & SCHOLARSHIP TEST (RESONET)

For Class-X appearing / passed students (Class-X to Class-XI Moving) :

Study thoroughly the books of Science (Physics & Chemistry) and Biology of Classes
IX & X. (NCERT & Respective Board)

For Class-XI appearing / passed students (Class-XI to Class-Xll Moving) :

1. Study thoroughly the books of Physics, Chemistry and Biology of Class XI (Respective
Board).

2. Refer to the following books (only Class-XI syllabus) to increase the level of competence:

= For Physics : Concepts of Physics by H.C. Verma Vol. | & I
= For Chemistry : NCERT Books

= For Biology : NCERT Books

For Class-XlIl appearing / passed students (Class-Xll to Class-Xlll Moving) :

1. Study thoroughly the books of Physics, Chemistry and Biology of Classes Xl & Xll

(Respective Board).

2. Refer to the following books (Class-XI & Class-Xll syllabus) to increase the level of

competence :

= For Physics : Concepts of Physics by H.C. Verma Vol-1 & I

= For Chemistry : Physical Chemistry By R.K. Gupta, Organic Chemistry By Morrison
& Boyd, Organic Chemistry By |. L. Finar, Inorganic Chemistry By J.D. Lee, Objective
Chemistry By Dr. P. Bahadur

= For Biology : NCERT Books, Trumen’s Elementary Biology, USS Biology
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GENERAL INSTRUCTIONS IN THE EXAMINATION HALL
(vhren waa @ fay gar=g fALw)
1. This booklet is your Question Paper. (a8 gﬁﬂ’oﬂ AMUBT Y- )
2. The Question Paper Code is printed on the top right corner of this sheet. (UTF—U= @S 39 U6 & SHW & DI H
BUT §AT B)

3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any form are

not allowed to be used. (@l T, AT ATE, AYTTF ARV, TGS e, Hegeley, AARS a1 o fFH sF IS
JUGIO B Pl WY ©U § SUAT B M T B)

4. Write your Name & Application Form Number in the space provided in the bottom of this booklet. (39 = 3 A
o ¥ Raa M § U= 9 9 AT BiH G AT W)

5. Before answering the paper, fill up the required details in the blank space provided in the Objective Response Sheet.
(IRF-9F B B | Ueal,ORS-3fie # & i Raw i 7 yg 1 fawel a1 W)

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank space
provided in the Objective Response Sheet (ORS)/ Answer Sheet. (STR—gRT®HT H &3 T Redd IM H 307 -0
BT PIS I AU AEEA BIH G WE WY F 77 1 )

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided in the question
paper. (M9e® & gRT ®Is % e T8 & WReN | % $ v I T @rell I F & BT )

8. No query related to question paper of any type is to be put to the invigilator.
(FleTd | Ue9-931 9 9Hfd B UBR &1 BIs 799 -1 BR)

Question Paper Pattern & Marking Scheme (Y3595 & UTSU T4 3H+ o)
9. Marks distribution of questions is as follows. (3391 @ YTW@I®B! &1 fAaR0r 979 yHIX | B 1)

Moving from Class-X to Class-XI

S.No Subject Nature of Questions Marks to be awarded

B CLT) u tesh No. of Questions Correct Wrong Total
1to25 PART-I (Biology)  |Single Choice Questions (SCQ) (®aet U@ ey i ) 25 3 0 75
2610 50 PART-Il (Maths) Single Choice Questions (SCQ) (®ae T fJ&u A ) 25 3 0 75
51to 65 PART-lll (Physics)  |Single Choice Questions (SCQ) (®de U® fasma 1 ) 15 3 0 45
66t080 | PART-IV (Chemistry) |Single Choice Questions (SCQ) (®ddl T& fawu & ) 15 3 0 45
81 to 100 | PART-V (Mental Ability) |Single Choice Questions (SCQ) (P T& fasy <t ) 20 3 0 60
Total 100 300

Moving from Class-XI to Class-XII

Marks to be awarded

S.No. Subject Nature of Questions No. of Questions Correct Wrong | Total
1t040 PART-I (Biology) Single Choice Questions (SCQ) (®dal T&H fawu ¥ ) 40 3 0 160
41to0 60 PART-II (Physics) Single Choice Questions (SCQ) (®ddl TH fawT i ) 20 3 0 80
61 to 80 PART-III (Chemistry) | Single Choice Questions (5CQ) (@ael T& fdwy & ) 20 3 0 80
81t0100 | PART-IV (Mental Ability) | Single Choice Questions (5CQ) (®dd T& fawa A ) 20 3 0 80
Total 100 300

Moving from Class-XII to Class-XIII

. ) Marks to be awarded
S.No. Subject Nature of Questions
No. of Questions Correct | Wrong | Total
1to 40 PART-I (Biology) Single Choice Questions (SCQ) (®ddl TH fawT 3 ) 40 3 0 120
41t070 PART-Il (Physics) | Single Choice Questions (SCQ) (®ddl TH fawT 3 ) 30 3 0 90
7110100 | PART-IIl (Chemistry) | Single Choice Questions (SCQ) (®ddl TH fawT 3 ) 30 3 0 90
Total 100 300
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Syllabus of ResoNET

CLASS - X (CHEMISTRY)

Basic : Cooling by evaporation. Absorption of heat. All things
accupy space, possess mass. Definition of matter ; Elementary
idea about bonding.

Solid, liquid and gas : characteristics-shape, volume, density;
change of state - melting, freezing, evaporation, condensation,
sublimation.

Elements, compounds and mixtures :Heterogeneous and
homogeneous mixtures; Colloids and suspension.

Mole concept : Equivalence - that x grams of A is chemically not
equal to x grams of B ; Partical nature, basic units : atoms and
molecules ; Law of constant proportions ; Atomic and molecular
masses;Relationship of mole to mass of the particles and
numbers ; Valency ; Chemical formulae of common compounds.

Atomic structure : Atoms are made up of smaller particles :
electrons, protons, and neutrons. These smaller particles are
present in all the atoms but their numbers vary in different atoms.
Isotopes and isobars.

Gradations in properties : Mendeleev periodic table.

Acids, bases and salts : General properties, examples and
uses.

Types of chemical reactions : Combination, decomposition,
displacement, double displacement, precipitation, neutralisation,
oxidation and reduction in terms of gain and loss of oxygen and
hydrogen.

Extractive metallurgy : Properties of common metals ; Brief
discussion of basic metallurgical processes.

Compounds of Carbon : Carbon compounds ; Elementary idea
about bonding ; Saturated hydrocarbons, alcohols, carboxylic
acids (no preparation, only properties).Soap - cleansing action of
soap.

CLASS - X (BIOLOGY)

Nutrition in plants & Animals, Respiration in plants & Animals,
Excretion in plants & Animals, Transportation in plants & Animals,
Genetics (Heredity & Variation), Evolution, Ecology (our
environment), Natural resources, Reproduction in plants &
Animals.

CLASS - X (PHYSICS)

Mechanics : Uniform and non-uniform motion along a straight
line ; Concept of distance and displacement, Speed and velocity,
accelaration and relation ship between these ; Distance-time and
velcocity - time graphs.

Newton’s Law of motion ; Relationship between mass,
momentum, force and accelaration ; work done by a force ; Law
of conservation of energy.

Law of gravitation ; acceleration due to gravity.

Electricity and magnetism : Ohm’s law ; Series and parallel
combination of resistances ; Heating effect of current.

Magnetic field near a current carrying straight wire, along the axis
of a circular coil and inside a solenoid ; Force on current carrying
conductor ; Fleming’s left hand rule ; Working of electric motor ;
Induced potential difference and current

Electric generator : Principle and working ; Comparision of AC
and DC ; Domestic electric circuits.

Optics : Rectilinear propagation of light ; Basic idea of
concave mirror and convex lens ; Laws of refraction ; Dispersion.

CLASS - XI (CHEMISTRY)

Some Basic Concepts of Chemistry : Particulate nature of
matter, laws of chemical combination, Dalton’s atomic theory :
concept of elements, atoms and molecules.

Atomic and molecular masses. Mole concept and molar mass ;
percentage composition and empirical and molecular formula ;
chemical reactions, stoichiometry and calculations based on
stoichiometry.

Structure of Atom : Discovery of electron, proton and neutron ;
atomic number, isotopes and isobars.

Thompson’s model and its limitations, Rutherford’s model and its
limitations, concept of shells and sub-shells, dual nature of matter
and light, de Broglie’s relationship, Heisenberg uncertainty
principle, concept of orbitals, quantum numbers, shapes of s, p,
and d orbitals, rules for filling electrons in orbitals - Aufbau
principle, Pauli exclusion principle and Hund’s rule, electronic
configuration of atoms, stability of half filled and completely filleld
orbitals.

Classification of Elements and Periodicity in Properties :
Significance of classification, brief history of the development of
periodic table, trends in properties of elements - atomic radii, ionic
radii, inert gas radii, ionization enthalpy, electron gain enthalpy,
electronegativity, valence.

Chemical Bonding and Molecular Structure :

Valence electrons, ionic bond, covalent bond, bond parameters,
Lewis structure, polar character of covalent bond, covalent
character of ionic bond, valence bond theory, resonance,
geometry of covalent molecules, VSEPR theory, concept of
hybridization involving s, p and d orbitals and shapes of some
simple molecules,

molecular orbital theory of homonuclear diatomic molecules
(qualitative idea only), hydrogen bond.

States of Matter : Gases and Liquids :

Three states of matter, intermolecular interactions, type of
bonding, melting and boiling points, role of gas laws in elucidating
the concept of the molecule, Boyle’s law, Charles’ law, Gay
Lussac’s law, Avogadro’s law, ideal behavior, empirical derivation
of gas equation, Avogadro’s number ideal gas equation, deviation
from ideal behaviour, Liquefaction of gases, critical temperature.
Liquid State - Vapour pressure, viscosity and surface tension
(qualitative idea only, no mathematical derivations)
Thermodynamics :

Concepts of system, types of systems, surroundings, work, heat,
energy, extensive and intensive properties, state functions.

First law of thermodynamics - internal energy and enthalpy, heat
capacity and specific heat, measurement of AU and AH, Hess'’s
law of constant heat summation, enthalpy of bond dissociation,
combustion, formation, atomization sublimation, phase transition,
ionization, and dilution.
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Introduction of entropy as a state function, free energy change for
spontaneous and non-spontaneous process, equilibrium.

Equilibrium : Equilibrium in physical and chemical processes,
dynamic nature of equilibrium, law of mass action, equilibrium
constant, factors affecting equilibrium - Le Chatelier’s principle ;
ionic equilibrium - ionization of acids and bases, strong and weak
electrolytes, degree of ionization concept of pH. Hydrolysis of
Salts (elementary idea), buffer solutions, solubility product,
common ion effect (with illustrative examples).

Redox Reactions : Concept of oxidation and reduction, redox
reactions,

oxidation number, balancing redox reactions, applications of
redox reaction.

Hydrogen : Position of hydrogen in periodic table, occurrence,
isotopes, preparation, properties and uses of hydrogen ; hydrides
- ionic, covalent and interstitial ; physical and chemical properties
of water, heavy water ; hydrogen peroxide - preparation,
reactions and structure ; hydrogen as a fuel.

s-Block Elements (Alkali and Alkaline Earth Metals) :

Group 1 and Group 2 elements :

General introduction, electronic configuration, occurrence,
anomalous properties of the first element of each group, diagonal
relationship, trends in the variation of properties (such as
ionization enthalpy, atomic and ionic radii), trends in chemical
reactivity with oxygen, water, hydrogen and halogens ; uses.

Preparation and properties of some important compounds
Sodium carbonate, sodium chloride, sodium hydroxide and
sodium hydrogen carbonate

Ca0, CaCO,, and industrial use of lime and limestone, Ca.

General Introduction to p-Block Elements :

Group 13 elements : General introduction, electronic
configuration, occurrence, variation of properties, oxidation
states, trends in chemical reactivity, anomalous properties of first
element of the group ;

Boron - physical and chemical properties, some important
compounds ; borax, boric acids, boron hydrides. Aluminium :
uses, reactions with acids and alkalies.

Group 14 elements ; General introduction, electronic
configuration, occurrence, variation of properties, oxidation
states, trends in chemical reactivity, anomalous behaviour of first
element. Carbon - catenation, allotropic forms, physical and
chemical propeties ; uses of some important compounds : oxides.
Important compounds of silicon and a few uses : silicon
tetrachloride, silicones, silicates and zeolites.

Principles of qualitative analysis : Determinantion of one anion
and one cation in a given salt

Cations - Pb2+, Cu?*, As®, Al*, Fe¥*, Mn?*, N2+, Zn%, Co?**, Ca?,
Sr2+‘ Baz+‘ Mgz-)-‘

Anions -

(Note : Insoluble salts excluded)

Organic chemistry - Some Basic Principles and Techniques
General introduction, methods of purification, qualitative and
quantitative analysis, classification and I[UPAC nomenclature of
organic compounds.

Electronic displacements in a covalent bond : free radicals,
carbocations, carbanions ; electrophiles and nucleophiles, types
of organic reactions

Classification of Hydrocarbons : Alkanes : Nomenclature,
isomerism, conformations (ethane only), physical propeties,
chemical reactions including free radical mechanism of
halogenation, combustion and pyrolysis.

Alkenes : Nomenclatures, structure of double bond (ethene),
geometrical isomerism, physical properties, methods of
preparation ; chemical reactions : addition of hydrogen, halogen,
water, hydrogen halides (Markovnikov’s addition and peroxide
effect), ozonolysis, oxidation, mechanism of electrophilic addition.
Alkynes : Nomenclature, structure of triple bond (ethyne),
physical properties, methods of preparation, chemical reactions :
acidic

character of alkynes, addition reaction of - hydrogen, halogens,
hydrogen halides and water.

Aromatic hydrocarbons : Introduction, IUPAC nomenclature ;
Benzene : resonance, aromaticity ; chemical properties
mechanism of electrophilic substitution - nitration sulphonation,
halogenation, Friedel Craft’s alkylation and acylation ; directive
influence of functional group in mono-substituted benzene ;
carcinogenicity and toxicity.

CLASS - XI (BIOLOGY)
Zoology:

Living world, Animal kingdom, Structural Organisation in
Animals, Biomolecules, Digestion & Absorption, Breathing &
Exchange of gases

Body Fluids and Circulation, Excretory products and their
Elimination, Locomotion and Movement , Neural control and
coordination, Chemical coordination and Integration

Botany:

Biological Classification—Kingdom — Monera, Protista, Fungi,
Virus, Plant Kingdom— Algae, Bryophytes, Pteridophytes,
Gymnosperms, Angiosperms, Plant Morphology - Root , Stem ,
leaves, Inflorescence , Flower , Fruit, Seed. Families -
Solanaceae, Liliaceae , Fabaceae, Plant Anatomy - Anatomy of
Tissues, Tissue system , Anatomy of Root , Stem , Leaves,
Secondary Growth, Cell Biology — Cell Structure & Functions ,
Cell Division, Plant Physiology — Transport in Plants , Mineral
nutrition , Respiration, Photosynthesis , Plant growth &
development .
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CLASS - XI (PHYSICS)

General : Units and dimensions, dimensional analysis; least
count, significant figures; Methods of measurement and error
analysis for physical quantities pertaining to the following
experiments: Experiments based on using Vernier calipers and
screw gauge (micrometer), Determination of g using simple
pendulum, Young’s modulus by Searle’s method.

Mechanics : Kinematics in one and two dimensions (Cartesian
coordinates only), projectiles; Uniform Circular motion; Relative
velocity.

Newton’s laws of motion; Inertial and uniformly accelerated
frames of reference; Static and dynamic friction; Kinetic and
potential energy; Work and power; Conservation of linear
momentum and mechanical energy.

Systems of particles; Centre of mass and its motion; Impulse;
Elastic and inelastic collisions.

Law of gravitation; Gravitational potential and field; Acceleration
due to gravity; Motion of planets and satellites in circular orbits;
Escape velocity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of inertia of uniform bodies with simple
geometrical shapes; Angular momentum; Torque; Conservation
of angular momentum; Dynamics of rigid bodies with fixed axis of
rotation; Rolling without slipping of rings, cylinders and spheres;
Equilibrium of rigid bodies; Collision of point masses with rigid
bodies.

Linear and angular simple harmonic motions.
Hooke’s law, Young’s modulus.

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and
surface tension, capillary rise; Viscosity (Poiseuille’s equation
excluded), Stoke’s law; Terminal velocity, Streamline flow,
equation of continuity, Bernoulli’s theorem and its applications.

Waves : Wave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and
stationary  waves; Vibration of  strings and air
columns;Resonance; Beats; Speed of sound in gases; Doppler
effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and
gases; Calorimetry, latent heat; Heat conduction in one
dimension; Elementary concepts of convection and radiation;
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and
Cp for monoatomic and diatomic gases); Isothermal and adiabatic
processes, bulk modulus of gases; Equivalence of heat and work;
First law of thermodynamics and its applications (only for ideal
gases); Blackbody radiation: absorptive and emissive powers;
Kirchhoff's law; Wien’s displacement law, Stefan’s law.

CLASS - XIl (CHEMISTRY)

Physical Chemistry

General topics : Concept of atoms and molecules; Dalton’s
atomic theory; Mole concept; Chemical formulae; Balanced
chemical equations; Calculations (based on mole concept)
involving common oxidation-reduction, neutralisation, and
displacement reactions; Concentration in terms of mole fraction,
molarity, molality and normality.

Gaseous and liquid states : Absolute scale of temperature, ideal
gas equation; Deviation from ideality, van der Waals equation;
Kinetic theory of gases, average, root mean square and most
probable velocities and their relation with temperature; Law of
partial pressures; Vapour pressure; Diffusion of gases.

Atomic structure and chemical bonding Bohr model,
spectrum of hydrogen atom, quantum numbers; Wave-particle
duality, de Broglie hypothesis; Uncertainty principle; Qualitative
quantum mechanical picture of hydrogen atom, shapes of s, p and
d orbitals; Electronic configurations of elements (up to atomic
number 36); Aufbau principle; Pauli’'s exclusion principle and
Hund’s rule; Orbital overlap and covalent bond; Hybridisation
involving s, p and d orbitals only; Orbital energy diagrams for
homonuclear diatomic species; Hydrogen bond; Polarity in
molecules, dipole moment (qualitative aspects only); VSEPR
model and shapes of molecules (linear, angular, triangular,
square planar, pyramidal, square pyramidal, trigonal bipyramidal,
tetrahedral and octahedral).

Energetics : First law of thermodynamics; Internal energy, work
and heat, pressure-volume work; Enthalpy, Hess’s law; Heat of
reaction, fusion and vapourization; Second law of
thermodynamics; Entropy; Free energy; Criterion of spontaneity.

Chemical equilibrium Law of mass action; Equilibrium
constant, Le Chatelier’s principle

(effect of concentration, temperature and pressure); Significance
of AG and AGo in chemical equilibrium; Solubility product,
common ion effect, pH and buffer solutions; Acids and bases
(Bronsted and Lewis concepts); Hydrolysis of salts.

Electrochemistry : Electrochemical cells and cell reactions;
Standard electrode potentials; Nernst equation and its relation to
DG; Electrochemical series, emf of galvanic cells; Faraday’s laws
of electrolysis; Electrolytic conductance, specific, equivalent and
molar conductivity, Kohlrausch’s law; Concentration cells.

Chemical kinetics : Rates of chemical reactions; Order of
reactions; Rate constant; First order reactions; Temperature
dependence of rate constant (Arrhenius equation).

Solid state : Classification of solids, crystalline state, seven
crystal systems (cell parameters a, b, ¢, ), close packed structure
of solids (cubic), packing in fcc, bcc and hcp lattices; Nearest
neighbours, ionic radii, simple ionic compounds, point defects.

Solutions : Raoult’s law; Molecular weight determination from
lowering of vapour pressure, elevation of boiling point and
depression of freezing point.

Surface chemistry : Elementary concepts of adsorption
(excluding adsorption isotherms); Colloids: types, methods of
preparation and general properties; Elementary ideas of
emulsions, surfactants and micelles (only definitions and
examples).
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Nuclear chemistry : Radioactivity: isotopes and isobars;
Properties of rays; Kinetics of radioactive decay (decay series
excluded), carbon dating; Stability of nuclei with respect to proton-
neutron ratio; Brief discussion on fission and fusion reactions.

Inorganic Chemistry

Isolation/preparation and properties of the following non-
metals : Boron, silicon, nitrogen, phosphorus, oxygen, sulphur
and halogens; Properties of allotropes of carbon

(only diamond and graphite), phosphorus and sulphur.

Preparation and properties of the following compounds :
Oxides, peroxides, hydroxides, carbonates, bicarbonates,
chlorides and sulphates of sodium, potassium, magnesium and
calcium; Boron: diborane, boric acid and borax; Aluminium:
alumina, aluminium chloride and alums; Carbon: oxides and
oxyacid (carbonic acid); Silicon: silicones, silicates and silicon
carbide; Nitrogen: oxides, oxyacids and ammonia; Phosphorus:
oxides, oxyacids (phosphorus acid, phosphoric acid) and
phosphine; Oxygen: ozone and hydrogen peroxide; Sulphur:
hydrogen sulphide, oxides, sulphurous acid, sulphuric acid and
sodium thiosulphate; Halogens: hydrohalic acids, oxides and
oxyacids of chlorine, bleaching powder; Xenon fluorides.

Transition elements (3d series) : Definition, general
characteristics, oxidation states and their stabilities, colour
(excluding the details of electronic transitions) and calculation of
spin  (only magnetic moment), Coordination compounds:
nomenclature of mononuclear coordination compounds, cis-trans
and ionisation isomerisms, hybridization and geometries of
mononuclear coordination compounds (linear, tetrahedral, square
planar and octahedral).

Preparation and properties of the following compounds :
Oxides and chlorides of tin and lead; Oxides, chlorides and
sulphates of Fe?*, Cu?* and Zn?*; Potassium permanganate,
potassium dichromate, silver oxide, silver nitrate, silver
thiosulphate.

Ores and minerals : Commonly occurring ores and minerals of
iron, copper, tin, lead, magnesium, aluminium, zinc and silver.

Extractive metallurgy : Chemical principles and reactions only
(industrial details excluded); Carbon reduction method (iron and
tin); Self reduction method (copper and lead); Electrolytic
reduction method (magnesium and aluminium); Cyanide process
(silver and gold).

Principles of qualitative analysis : Groups | to V (only Ag*, Hg?,
Cu?, Pb#, Bi*, Fe**, Cr¥*, AP, Ca?*, Ba**, Zn*, Mn# and Mg?);
Nitrate, halides (excluding fluoride), sulphate and sulphide.

Organic Chemistry

Concepts : Hybridisation of carbon; Sigma and pi-bonds; Shapes
of simple organic molecules; Structural and geometrical
isomerism; Optical isomerism of compounds containing up to two
asymmetric centres, (R,S and E,Z nomenclature excluded);
IUPAC nomenclature of simple organic compounds (only
hydrocarbons, mono-functional and bi-functional compounds);
Conformations of ethane and butane (Newman projections);
Resonance and hyperconjugation; Keto-enol tautomerism;
Determination of empirical and molecular formulae of simple
compounds (only combustion method); Hydrogen bonds:

definition and their effects on physical properties of alcohols and
carboxylic acids; Inductive and resonance effects on acidity and
basicity of organic acids and bases; Polarity and inductive effects
in alkyl halides; Reactive intermediates produced during
homolytic and heterolytic bond cleavage; Formation, structure
and stability of carbocations, carbanions and free radicals.
Preparation, properties and reactions of alkanes
Homologous series, physical properties of alkanes (melting
points, boiling points and density); Combustion and halogenation
of alkanes; Preparation of alkanes by Wurtz reaction and
decarboxylation reactions.

Preparation, properties and reactions of alkenes and alkynes
: Physical properties of alkenes and alkynes (boiling points,
density and dipole moments); Acidity of alkynes; Acid catalysed
hydration of alkenes and alkynes (excluding the stereochemistry
of addition and elimination); Reactions of alkenes with KMnO, and
ozone; Reduction of alkenes and alkynes; Preparation of alkenes
and alkynes by elimination reactions; Electrophilic addition
reactions of alkenes with X,, HX, HOX and H,O (X=halogen);
Addition reactions of alkynes; Metal acetylides.

Reactions of Benzene : Structure and aromaticity; Electrophilic
substitution reactions: halogenation, nitration, sulphonation,
Friedel-Crafts alkylation and acylation; Effect of ortho, meta and
para directing groups in monosubstituted benzenes.

Phenols : Acidity, electrophilic substitution reactions
(halogenation, nitration and sulphonation); Reimer-Tieman
reaction, Kolbe reaction.

Characteristic reactions of the following (including those
mentioned above):

Alkyl halides: rearrangement reactions of alkyl carbocation,
Grignard  reactions, nucleophilic  substitution reactions;
Alcohols: esterification, dehydration and oxidation, reaction with
sodium, phosphorus halides, ZnCl2/concentrated HCI,
conversion of alcohols into aldehydes and ketones;
Ethers:Preparation by Wiliamson’s Synthesis; Aldehydes and
Ketones: oxidation, reduction, oxime and hydrazone formation;
aldol condensation, Perkin reaction; Cannizzaro reaction;
haloform reaction and nucleophilic addition reactions (Grignard
addition); Carboxylic acids: formation of esters, acid chlorides
and amides, ester hydrolysis; Amines: basicity of substituted
anilines and aliphatic amines, preparation from nitro compounds,
reaction with nitrous acid, azo coupling reaction of diazonium
salts of aromatic amines, Sandmeyer and related reactions of
diazonium salts; carbylamine reaction; Haloarenes: nucleophilic
aromatic substitution in haloarenes and substituted haloarenes
(excluding Benzyne mechanism and Cine substitution).

Carbohydrates: Classification; mono- and di-saccharides
(glucose and sucrose); Oxidation, reduction, glycoside formation
and hydrolysis of sucrose.

Amino acids and peptides : General structure (only primary
structure for peptides) and physical properties.

Properties and uses of some important polymers : Natural
rubber, cellulose, nylon, teflon and PVC.

Practical organic chemistry : Detection of elements (N, S,
halogens); Detection and identification of the following functional
groups: hydroxyl (alcoholic and phenolic), carbonyl (aldehyde and
ketone), carboxyl, amino and nitro; Chemical methods of
separation of mono-functional organic compounds from binary
mixtures.
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CLASS - Xl (BIOLOGY)
Zoology:

Animal Reproduction — Human Reproduction, Reproductive
Health , Evolution , Biology in Human W elfare~Human health and
disease, Drug & Alcohol abuse, Medical Diagnostic technique ,
Biology in Human Welfare—Strategies for Enhancement in Food
production , Microbes in human welfare, Living world , Animal
kingdom , Structural Organisation in Animals , Biomolecules,
Digestion & Absorption, Breathing & Exchange of gases, Body
Fluids and Circulation, Excretory products and their Elimination,
Locomotion and Movement , Neural control and coordination,
Chemical coordination and Integration.

Botany:

Reproduction  in Flowering plants. Genetics — Heredity and
variations. Genetics — Molecular basis of inheritance, Application
Biology— Plant Breeding, Biotechnology Principles, Processes,
applications, Ecology—Organism & its Environment , Ecosystem,
Ecology-Environmental issues , Biodiversity & Conservation,
Biological Classification—Kingdom — Monera, Protista, Fungi, Virus,
Plant Kingdom— Algae, Bryophytes, Pteridophytes, Gymnosperms,
Angiosperms, Plant Morphology - Root , Stem , leaves, Inflorescence
, Flower , Fruit, Seed. Families - Solanaceae, Liliaceae , Fabaceae,
Plant Anatomy - Anatomy of Tissues, Tissue system , Anatomy of
Root , Stem , Leaves, Secondary Growth , Cell Biology — Cell
Structure & Functions , Cell Division, Plant Physiology — Transport
in Plants, Mineral nutrition, Respiration, Photosynthesis , Plant
growth & development.

CLASS - XII (PHYSICS)

General : Units and dimensions, dimensional analysis; least count,
significant figures; Methods of measurement and error analysis for
physical quantities pertaining to the following experiments:
Experiments based on using Vernier calipers and screw gauge
(micrometer), Determination of g using simple pendulum, Young's
modulus by Searle’s method, Specific heat of a liquid using
calorimeter, focal length of a concave mirror and a convex lens using
u-v method, Speed of sound using resonance column, Verification of
Ohm’s law using voltmeter and ammeter, and specific resistance of
the material of a wire using meter bridge and post office box.

Mechanics : Kinematics in one and two dimensions (Cartesian
coordinates only), Projectiie Motion; Uniform Circular Motion;
Relative Velocity.

Newton’s laws of motion; Inertial and uniformly accelerated
frames of reference; Static and dynamic friction; Kinetic and
potential energy; Work and power; Conservation of linear
momentum and mechanical energy.

Systems of particles; Centre of mass and its motion; Impulse;
Elastic and inelastic collisions.

Law of gravitation; Gravitational potential and field; Acceleration
due to gravity; Motion of planets and satellites in circular orbits;
Escape velocity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of inertia of uniform bodies with simple
geometrical shapes; Angular momentum; Torque; Conservation of
angular momentum; Dynamics of rigid bodies with fixed axis of
rotation; Rolling without slipping of rings, cylinders and spheres;
Equilibrium of rigid bodies; Collision of point masses with rigid bodies.

Linear and angular simple harmonic motions.

Hooke’s law, Young’s modulus.

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and
surface tension, capillary rise; Viscosity (Poiseuille’s equation
excluded), Stoke’s law; Terminal velocity, Streamline flow,
equation of continuity, Bernoulli’s theorem and its applications.

Waves : Wave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and
stationary =~ waves; Vibration of  strings and air
columns;Resonance; Beats; Speed of sound in gases; Doppler
effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and
gases; Calorimetry, latent heat; Heat conduction in one
dimension; Elementary concepts of convection and radiation;
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and
Cp for monoatomic and diatomic gases); Isothermal and adiabatic
processes, bulk modulus of gases; Equivalence of heat and work;
First law of thermodynamics and its applications (only for ideal
gases); Blackbody radiation: absorptive and emissive powers;
Kirchhoff's law; Wien’s displacement law, Stefan’s law.

Electricity and magnetism : Coulomb’s law; Electric field and
potential; Electrical potential energy of a system of point charges
and of electrical dipoles in a uniform electrostatic field; Electric
field lines; Flux of electric field; Gauss’s law and its application in
simple cases, such as, to find field due to infinitely long straight
wire, uniformly charged infinite plane sheet and uniformly charged
thin spherical shell.

Capacitance; Parallel plate capacitor with and without dielectrics;
Capacitors in series and parallel; Energy stored in a capacitor.

Electric current; Ohm’s law; Series and parallel arrangements of
resistances and cells; Kirchhoff's laws and simple applications;
Heating effect of current.

Biot—Savart’s law and Ampere’s law; Magnetic field near a
current-carrying straight wire, along the axis of a circular coil and
inside a long straight solenoid; Force on a moving charge and on
a current-carrying wire in a uniform magnetic field.

Magnetic moment of a current loop; Effect of a uniform magnetic
field on a current loop; Moving coil galvano- meter, voltmeter,
ammeter and their conversions.

Electromagnetic induction: Faraday’s law, Lenz’s law; Self and
mutual inductance; RC, LR and LC circuits with d.c. and a.c.
sources.

Optics: Rectilinear propagation of light; Reflection and refraction
at plane and spherical surfaces; Total internal reflection;
Deviation and dispersion of light by a prism; Thin lenses;
Combinations of mirrors and thin lenses; Magnification.

Wave nature of light: Huygen’s principle, interference limited to
Young’s double-slit experiment.

Modern physics : Atomic nucleus; Alpha, beta and gamma
radiations; Law of radioactive decay; Decay constant; Half-life
and mean life; Binding energy and its calculation; Fission and
fusion processes; Energy calculation in these processes.

Photoelectric effect; Bohr’'s theory of hydrogen-like atoms;
Characteristic and continuous X-rays, Moseley’s law; de Broglie
wavelength of matter waves.
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Course: Moving from Class-X to Class-XI

TARGET AIIMS/NEET

(For Class-X Appearing / Passed Students)

an T - f Questi Marks to be awarded

20 CLIS giirelolfueshions No. of Questions Correct Wrong Total
1to25 PART-I (Biology) Single Choice Questions (SCQ) (®Hde TH faswy |1 ) 25 3 0 75
260 50 PART-Il (Maths) Single Choice Questions (SCQ) (Haa TH fawa A ) 25 3 0 75
51to 65 PART-lll (Physics)  |Single Choice Questions (SCQ) (®de UH fasmg 1 ) 15 3 0 45
66t0 80 | PART-IV (Chemistry) |Single Choice Questions (SCQ) (®ddl TH fawu i ) 15 3 0 45
81 to 100 | PART-V (Mental Ability) |Single Choice Questions (SCQ) (dadt & fawy it ) 20 3 0 60
Total 100 300

PART - | (BIOLOGY) 9T - | (Sfra =)

SECTION : (Maximum Marks : 75)
s  (AfrEm &iw : 75)
This section contains TWENTY FIVE (25) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
% Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened
» ZeroMarks : 0 If none of the bubble is darkened
» Negative Marks : 0 In all other cases
39 ©s § g (25) WA 2
gy # IR fAwed (1), (2), (3) 7T (4) ¥l 39 TR
fawped § & ot T fAwer v |
& TG U W, 98 fAeed & IgwY gogel Bl S IR TE.
H BTl PN |
% BT A
> of oie - 3 af e w9 fawed & g M B
> I AE 0 AR B N Rew T8 gW W @
(@i W SrgaRa B) 1
> U D - 0 o it aRRerfat 7

X3

o

b

K3

%

b

K3
S

K3

.
”n

o,
”n

R AN is the main arena of cellular activities
in both the plant and animal cells. Various chemical
reactions occur in it to keep the cell in the living state.

(1) Nucelus (2) Cell membrane

(3) Cytoplasm (4) Deutoplasm

IRy o7 9] IR Jur A 7 St afifafda
BT I I g1 g B aren

fafre warafe afafba if¥rer o Shfaqd saxen &
Il B

(1) B=b (2) PIRBT FoAl
(3) FRHT 5™ (4) SgTIATSH

Reproductive cells (germinal epithelium) are made up of
which of the following epithelial tissue

(1) Cuboidal (2) Columnar

(3) Squamous (4) Sensory

S BT ud fed ghefiferae Saw @t a9 Bl

(1) ¥THR (Cuboidal) (2) EK*HTHR (Columnar)

(3) IHR (Circular)  (4) FI

Common disease of silkworm are pebrine, is caused by

(1) Protozoan (2) Virus

(3) Fungus (4) Bacteria

YT BIC BT AHRT I U 39D gRT BT 8-
(1) Frerstita (2) famyy

(3) P (4) Sfrare

Phylum whose organism are mostly endoparasites is
(1) Platyhelminthes (2) Annelida

(3) Arthropoda (4) Mollusca

e o e Sig araRofidl 8 &

(1) wrdrefereis (2) TAfeTST

(3) angfdrer (4) HreTebT

Health is affected by

(1) Genetic disorders  (2) Infections
(3) Life style

(4) All

Ry I faan ST B |

(1) Igai¥es ReR gR1 (2) GHAYT GRT
(3) Sirawrerdt g (4)

Sewage water can be purified by -

(1) Aquatic plant (2) Micro organism
(3) Penicillin (4) Fishes

A I g fvan o dhar § —

(1) STl UISY gRT (2) & Sfg g1
(3) Uil g™ (4) Foel R

70S type of ribosomes are absent in
(1) Mitochondria (2) Chlorplast
(3) Bacteria (4) Rough endoplasmic reticulum

70S YHR P IEAART frad aruiRerd 8 # |
(1) e itgar (2) FARTERE
(3) IfFeRRan (4) BB sraTEe St
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Fluid part of blood after removal of corpuscles is 15.

(1) Plasma (2) Lymph

(3) Serum (4) Vaccine

BRHET B Rdrem @ a1 W/ B AR U B B
(1) =TS (2) TT<Ar@T

(3) ¥R\ (4) Q@1

Saccharum barberi and Saccharum officinarum are 16.

varieties of D

(1) sugar cane (2) maize

(3) wheat (4) rice

JYPYH IR MR FBH AfBRERA e 3 foet 8 -
(1) 7= (2) HFBT

@) (4) =TT

What is lacking in fungi

(1) Carotenoids (2) Chlorophyll

(3) Both (1) & (2) (4) None of these
Had! § w1 JgURYT BT B

(1) FxfeATssa (2) TR

(3) SWIE EH1 (4) 3™ A BE T8

The diseases likely to spread through blood transfusion are
(1) Hepatitis and AIDS

(2) Hay fever and AIDS

(3) Cholera and Hepatitis

(4) Diabetes mellitus and Malaria

IR B ATETT-ISIT (transfusion) H B &

(1) eUeTsfe T AIDS

(2) 8 g@R T AIDS

(3) PRt FUesfew

(4) sisfafed Aergew T AailRaT

Major pollulant in Jet plane emission is —
T i Soau # I e § —
(1) SO2 (2) CFC (3)co

(4) CCly

The cell theory states that 19.

(1) All cells have nuclei

(2) All cells are totipotent

(3) Cells reproduce by mitosis

(4) Cells are the basic structrual units of living beings

PIRST g gR1 |eaia & &

(1) T BIRr@re § e grar ST §

(2) 9 BIRPRT Adde= ad &

(3) BIBT AZSIIT FRT S Bl B

(4) DIRBT IRl & MR IS IPTE &

20.

Which of the following is loose connective tissue
(1) Areolar (2) Adipose

(3) Blood (4) Nervous tissue

1 & 9 B dren wah SO ®

(1) TRATR (2) TSIt

(3) Yo (4) af*=>p1 Has

17.

18.

*, ok Sk ok K
* *
2ot ko el
ekl
"Jaya" and "Ratna" developed for green revolution in India
are the varieties of
(1) Maize (2) Rice (3) Wheat (4) Bajra
"TRaad § BRT ift g Refm "sar qen o fadat
et & ¥
(1) Hap1  (2) I1dd

@), (4) TR

Which one is called as horse tail

(1) Equisetum (2) Pteridium

(3) Selaginella (4) Isoetes

g e Ea Eﬁ% Al t:[BF (horse tail) Ped B 1
(1) STFARAEH (2) eRfeaw

(3) Ryefoman (4) TS

Alcohol addiction is harmful because it causes
(1) Protein deposition in liver

(2) Deposition of extra fat in liver

(3) Rise in blood sugar level

(4) Cancer

IRTY BT FHT BPRS & Hife 389

(1) IHT § WEF BT WSRO & AT ¥

(2) g 7 AfaRad a1 w1 YUSReT & WK §
(3) T ¥ BN BT WR I Sl &

(4) TR B AT 7

It is said that Tajmahal may be destroyed due to -

(1) Flood in Yamuna river

(2) Air pollutants released from oil refinery of Mathura
(3) Decomposition of marble as a result of high
temperature

(4) All the above

IE FE 91 Y@ & & areEd T 8§ 9o & ee
BRI —

(1) T = A AT

(2) YT B T RGN | gaa a1g Ugud R
(3) ST TIHHIH & URUITRGRY AR &1 faee
(4) SwIFT T

Cell membrane's carbohydrates participate in
(1) Transporting substances across the membrane
(2) Cell to cell recognition

(3) Attaching the membrane to cytoskeleton

(4) Cell adhesion

PIRIBT Berl § SURYT FETEIgSEH W ol &

(1) Bl | AR - IR T1A S AT H
(2) PR | IS a6 g §

(3) PIRGT HHTA § Tl B e A

(4) PIRMBIAT & MR | fagey &

Inner surface of fallopian tubes, bronchi and bronchioles
are lined by

(1) Squamous epithelium (2) Ciliated epithelium

(3) Columnar epithelium (4) Cubical epithelium
BARE TIE, MH! V9 AFHATed BT ARG WR [5ds
NI ARIRT & &

(1) DY SUBAT HAD
(3) WHTPR SUGHA SHAdH

(2) vy SuBmen HIAD
(4) TATHR SUBAT S
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21. Virus free plants can be obtained through PART - Il (MATHEMATICS) T - Il (71fora)
(1) Shoot tip culture (2) Haploid culture - - -
(3) Protoplast fusion (4) Embryo culture SECTION ) (MaX|mum.Marks :75)
IERE AT U fhas R W Y W w2 TS : (3w o : 75)
. . <  This section contains TWENTY FIVE (25) questions.
(1) WRiE o waga (2) erfra waes %  Each question has FOUR options (1), (2), (3) and (4).
(3) Vel Heras (@) 5ot Faei ONLY ONE of_these four option is correct _
< For each question, darken the bubble corresponding to the
22.  Which is totally absent in gymnosperms K Kg:iic:goz:ﬁ;;lthe ORS
(1) Sieve cell (2) Tracheids > FullMarks : 3 If only the bubble corresponding to
(3) Both (1) and (2) (4) Companion cells the correct option is darkened
T et § Tﬁa—m ma Brar 2 » ZeroMarks : 0 If none of the bubble is darkened
. »  Negative Marks : 0 In all other cases
(1) AT BIADT (2) TfefeTd % 39 @S A TEg (50) UE B
(3) S () TAT(2)  (4) FEDIRIBI < W% ¥ § AR e (1), (2), (3) 7 (4) §| AR
23. Passive immunity required by a person at the time of : il _é_ A i
snake bite involves injection of- %t ;_‘_E B _ﬁ' w& fawer & s e gaﬂé @I Al AR, TH,
(1) Antibiotics (2) Antibodies # BTl N |
(3) Antigens (4) Albumins % AFHA I
U R B WM R TF Afad & oy mawas Hissy > vl o 3.9 Riw wdl fRwew & g w7
iR § e sra.aTer e g > U AP 00 At B N fawe wE g T R (@i
(1) TR @1 (2) afRrEt &1 . Wqﬂ_iﬁi%)' o .
. U D : I affRer |
(3) wforsr=t @1 (4) Tgfi @1
24.  Meling BEtheieeeaps mightrasil for - 26. Infigure, a square is |nscr|bed.|n a circle of radius gy2cm.
1) Depletionof | Then the length of the square is
e e S B R e oA 1, 0 1 T 9 o A & foredl e
xcess in atmosphere
) 842 Cm B | T S T Y TS BT —
(3) Excess COz in the atmosphere
(4) Excess water rain
el erdat &1 fee feas aRem w@wy &
HHAT B
OISR q'\fa_ B T BT (1) 16 cm 2 12 cm
(2) agAYSH § CFC Y 31w (3) 10 cm (4)8cm
(3) aRgATSH ¥ CO, & ¥ a= 27. %rr:gge the given ;’ﬁa;ion\lal nuﬁmbers};n%g ascending order
RERSEC Bl ded hH 3
4) 1% oI+l FY aut i .
) 3-8 8 1
25. Extranuclear DNA is found in 2°5°-13'-3
(1) Chloroplast, Mitochondria 1) 1 9 -3 -8 @) —_8 <—_3< 9 <i
(2) Ribosome 31325 5 "2 "33
(3) Endoplasmic reticulum 3) -8 . 9 . 1 . -3 @) -8 . -3 . 1 . 9
(4) Golgi apparatus 5 13 3 2 5 2 3 13

JfaR<s =TI DNA HEf TRl STl 8
(1) FARTARE, ATSCIDI =gl

28.

The radii of two cylinders are in the ratio of 2:3 and their
heights are in the ratio of 5 : 3. The ratio of their volumes

(2) T o vt @ ot 239 ST # ¥ e S S
(3) YIRS YT FT AU 5:3 8| ST ATITH BT AT & —
(8) Tt drS (1)10:17 (2)20:27 (3)17:27 (4)20:37
29. Let X be the mean of X1, X2, ...., Xn and V the mean of
Y1, V2, ..., ¥n. If Z is the mean of X1, X2, ..., Xn, Y1, Y2, ..,

Yn, then Zis equal to

I x1, X2, ..., Xo BT AT X B, Y1, Y2, ..., Yo BT AT y
B AT X1, X2, ..., X, Y1, Y2, ..., Ya BT 71T Z 8, @1 Z
TR & —

MX+y @) XY
@) XY @) X+y
n 2n
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01 SAMPLE TEST PAPER

A card is drawn from a packet of 100 cards numbered 1 to 39,

100. The probability of drawing a number which is a perfect
square is : ) ]

af 1 & 100 W1 arel 100 Ul arell TS § ¥ 1 uw
g WY T SED YUl o arell HeEn e @) uifdeedn @
afr —

(1)1/100  (2)2/100 (3)1/10  (4) 2/10
The value of [(32)2 T is :

(33211 &1 =19 gm —
(1) 81 (2)-81  (3)-0.0123 (4)0.0123
Ifa+b+c=9and ab + bc + ca =26, then the value of a3
+b3+c-3abcis:
gfTa+b+c=9TAMab+bc+ca=26, T a3+ b3 +c3—
3abc BT A B8R —

(1)8 (2) 27 (3) 64 (@) 216

40.

The distance of (—4,10) from (- 4, 15) is
g (4,10) & fag (- 4, 15) & O &=
(Mms (2)4

(3) 10 (4)15

The perimeter of a rhombus is 20 cm and one of its
diagonal is 6 cm long. Find the length of the other
diagonal.

Iy TFEgS @1 aRaTg 20 cm & T U TH fawel o
T=TE 6 cm B 1 g At @ e @ gi-

(1) 8 cm (2) 9 cm (3)10cm (4) 11 cm

In figure, Z/Q > /R, PA is the bisector of Z/QPR and
PM I QR. Then Z/APM =

Ay 7, Q> /R, PA®IU /QPR &1 FAfgHISI® & .

PM 1 QR &I Z/APM=
P

)
Q M x R

1
@ < («a- R

1
(1) A (£Q - £R)

1

@) 5 (“Q-R) (4) 2Q - /R

The number of triangles with any three of the lengths 1, 4,

6and 8 cm, are :

1,4,6 AR 8T # ¥ B N w11 AdHR fbae Bryet
R O A B |
(M4 22

31 (ORY

42.

Given an isosceles trapezium ABCD in order with AB = 6,
CD = 12 and area 36 sq. units. Length of the side BC
is:

& o wwfgarg WA T s ABCD # AB =6, CD = 12
AR THPT &AH 36 TN BT 8 | Yo BC BT =8
B |
(16

(25 (3)4.5

The two solutions of the lines nx +y = 9.

G ax+y=9® ql g o § | 8 —
(1)(0,0), (0, 1) (2) (0, 9), (9, 0)
(3) (1/m, 1), (<1/=, =10) (4) (-1, 9n), (1, 9+~x)

(4)5.5 43.

If bisectors of /A and /B of a quadrilateral ABCD
intersect each other at P, of /B and ZC at Q, of ZC and
/D at R and of /D and ZA at S, then PQRS is a

(1) rectangle

(2) rhombus

(3) parallelogram

(4) quadrilateral whose opposite angles are
supplementary

I} TSt ABCD & /AR /B3 FAGHGIH WRER P R
TRes IR & /B IR /C B WHEINE Q R, /C 3R /D
FRWR T DIAR /AD SR IRBs F & 0 PQRS
R

(1) maa

(2) FEEgS

(3) TARR =g

(@) THS RTTD T PO AR & |

PQRS is a square. T and U are respectively, the mid-
points of PS and QR. Find the area of AOTS, if PQ = 8
cm, where O is the point of intersection of TU and QS.
PQRS T& T &| T 3R U Hw: PS 3R QR & 7eg—fig
g ; AOTS 1 &FUGE T BT, IR PQ=8cm T @1 O

Y@ TUAR Qs &1 Hftess g &

P, S
[¢)
Q R
(1) 6 cm? (2) 8 cm?
(3) 10 cm? (4) 16 cm?2

The adjoining figure, AB is the diameter of the circle with
centre O. A chord CD is bisected by the diameter at P. If
OA = OB =15 cm and OP = 9 cm. Then the length of
chord AD is : )

a0 fag W fm | g9 RTaw @™ AB e v O 7 |
Ify =g, Shar CD 1 favg P &1 AfgwIivra ®Rar § &R
OA =0B =15cm TT OP =9 cm & T Al AD & o+arg
Bt —

CBD
(1) 12 em (2) 1245 em
(3) 13 cm (@) 1345 cm

(0.44) +(0.06)? +(0.024)?
(0.044)? +(0.006)? +(0.0024)?

BT AM B

The value of the following is :

(0.44)? +(0.06)2 +(0.024 )
(0.044)% +(0.006) +(0.0024)
(1) 0.100 (2) 0.01
(3) 100 (4) None of these (378 q BT A8l

The number of planks of dimensions (4mx50cmx20 cm)
that can be stored in a pit which is 16 m long, 12m wide
and 4 m deep is :

16m 9, 12m A MR 4m TR TS TS H W@ T GHA
qrel 4 m x 50 cm x 20cm AR Tt TEAl B A& ®
(1) 1900 (2) 1920 (3) 1800  (4) 1840

Our Hyderabad Centres :
Madhapur | Kukatpally | Tarnaka | West Maredpally | Dundigal | Medchal
Reach us : +91-9121219858 / www.resonancehyderabad.com




*, ok Sk ok K
e kA
01 SAMPLE TEST PAPER A KA
* * ke
*
44. The following observations are arranged in ascending PART - lll (PHYSICS) 9T - Il (fds f=m)
der : =
g;f%lfﬁﬁ AHT ARTE HH H FIRYT B : SECTION & (Maximum: Marks : 60]
36, 49, 51, 55, x, x+ 2, 72, 75, 85, 92 s : (TfrmTm &fiw :60)
If the median is 65, find the value of x. <  This section contains FIFTEEN (15) questions
Ife 37T WEIH 65 B, AT X BT A SN BN | %  Each question has FOUR options (1), (2), (3) and (4).
(1) 60 (2) 54 (3) 64 (4) 68 ONLY ONE of these four option is correct
< For each question, darken the bubble corresponding to the
45. In a cricket match a batswoman hits a boundary 6 times correct option in the ORS
out of 30 balls she plays. The probability that she did not < Marking scheme :
hit a boundary is : »  Full Marks . 3 If only the bubble corresponding to
fde Wot # e Aflten Raast 30 F_I W 6 IR g B WA the correct option is darkened
w tlgin?‘ﬁ a7 S T T B I W AT tlgin' 3 9 gREar »  Zero Marks 0 If none of the bubble is darkened
8l = » Negative Marks : 0 In all other cases
arft b
B % 39 9% H TwE (15) U ¥
2 2 4 @) 2 @ 1 ¢ TSy # 9R fwe (1), ), (3) 9T (4) ¥ 3T AR
s s s s fredt & ¥ dad TP fwed w8
46. 7x°-5¢%isa: % TS U A, 99 AP & agwU gaga B 3l IR T4
(1) binomial (2) Trinomial F PTe B
(3) monomial (4) None of these . .
7x2-5x2 % — % ST AT
() feufem (2) Bt > T’f%i’cﬁ:3 afy R T8 amﬂﬁﬂmw%l
(3) T @) 5 ¥ B & > I e 10 A BIg W fawed T8 g mn B (erdiq
47. A rectanglular tank of length 10 m, breadth 5 d depth = Rer2)| SR
. rectanglular tank of leng m, brea m and dep S .
6 m is full of water. How much water must be taken out of > ®TAE 0 o T et # |
the tank to reduce the level of water in the tank by one . . . . .
metre ? 51. Which of the following options is correct for the object
10m o, 5m A dR 6 m T TH AABR Al having a straight line motion represented by the following
; o PR graph )
ol Pl w9 R F <A A 9 o o Freore e g B e et & A @ Ry g e § wef
forar SQ & < | T T KR TH HieR B9 B 1Y ? % B R e 4 ¥ @1 @ Ao ad 3
(1)30m3 (2)60m3 (3)50 m3 (4) 100 m3
48. A class consists of 50 students out of which 30 are girls.
The mean of marks scored by girls in a test is 73 (out of
100) and that of boys is 71. Determine the mean score of
the whole class. ] ] o
T w7 50 femeff € R | 30 wrsfedt ¥ U T T
F Tefrdl gRT (100 & /) 9T fBY 7Y i HT ATET 73 (1) The object moves with constantly increasing velocity
AT TSB! BT 71 Bl q:fTﬁ Bel B HILg UKD Sl from O to A and then it moves with constant velocity.
A 7] RgOFATH Faa ©u & gd g¥ 91 9 TR Felt
(1)78.2 (2)72.2 2 aen R g 9w 9 iy e @
(3)74.2 (4) None of these (379 ¥ I3 &) (2) Velocity of the object increases uniformly
T BT AT UH T BU F QA §
49. ?hthela:jcoigipg figure, in circle with centre O. /BDC = 40°, (3) Average velocity is zero
en is:
: _ TG BT AT AT T B
& ™ ¥ fag 0 99 &1 ¥ ¥ IR /BDC = 40° ¥ (4) The graph shown is impossible
T /ACB HT A BN — Tfar AT 96 = T8 R
52. A pendulum bob of mass 50 gm is suspended from the
ceiling of an elevator. The tension in the string if the
elevator goes up with uniform velocity is approximately
A TRl el BT T forde &1 B ¥ dehEl M1 § | TRl
TIeid & Teld Bl 5@ H 50 gm E | A fore T 99 a1 9
TR B AR A B A oAleid D SR F TG 8, T
(1) 40° (2) 45° (3) 50° (4) 90° (1) 0.30 N (2) 040N (3) 042 N (4) 0.50 N
53. The value of ‘g’ at a particular point is 9.8 m/s2. Suppose
50. The diameter of a sphere is decreased by 25%. By what the earth suddenly shrinks uniformly to half its present

percent does its curved surface area decrease?

TP el & & A 25% B U & el & | BT Ih
T SFume fhad ufied $9 & W § ?

(1) 43.75 % (2) 47.25 %

(3) 46.25 % (4)42.75 %

size without losing any mass. The value of ‘g’ at the same
point (assuming that the distance of the point from the
centre of earth does not shrink) will now be

gt W ) v g R ‘g w1 AW 9.8 m/s? B AT
& o@ gt fo somm &t & Us 999 w9 9 aRfe
PR & MY MHR & Ry o & O &0t fag R g’
FAM FM @ F o g B 0, pd B s B
e T8 g B)
(1) 4.9 m/sec?

iy et (2) 3.1 m/sec?
.8 m/sec

(4) 19.6 m/sec?
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4. hemisphierical bowl just floats withoot:sinking in 2 liquid 60. A solid sphere of density n( > 1) times lighter than water is
of density 1.2x10%kg/m°. If OLitef d|a3meter and the density suspended in a water tank by a string tied to its base as shown in
.°f the I?OWI are 1 mand 2x1.0 kgin® respectively, then the fig. If the mass of the sphere is m then the tension in the string is
inner diameter of the bowl will be N N N given by
PR PRI 3 3 Teq
hid 1.2x10%g/m 1§ W e _ T O el R 99k Ofel & Ted ¥ (> 1) T B 8|
I O g9 TR <@ B | BER BT A A T TACA HAL: 8 @ & o S o
1m0 2x10% kginP & | BER &1 AR ART BT VIR, TeEER S B Sl
(1)0.94m (2)0.97m (3)0.98m (4)0.99m Her & | I el P o = m B o SR # T 8
565. Two identical cylindrical vessels with their bases at same level
each contains a liquid of density p. The height of the liquid in
one vessel is h1 and that in the other vessel is h2. The area of
either base is A. The work done by gravity in equalizing the
levels when the two vessels are connected, is ! 1 . 5
TH A TIHR U B MUR FHE T W e ()[L}mg (2) nmg
HCQ$W$TGHW&\BWA%IFI@$W‘§WWW L
BT G AT FATGAT b1 TAT b2 TH R g1 B | AR (3) & 4) m-Dmg
M U B TE R ¥ wie Y@ Wg a9 g4 o A n-1
=q BT Tol GEIT B %_SI Toed gRI frar a8 61. Ifth_e increas_e in the kinetic energy of a body is 22%, then
the increase in the momentum will be
() (y —hy)gp @) (= hy)gdp iy fvg &) st Sott 22% 991 & Sy @ SHs |aT A
®) i(hl —hyY gdp 4 L(111 — ) gdp g &
2 _ i (1)22%  (2)44%  (3)10%  (4)300%
566. Ultrasonic, Infrasonic and audible waves travel through a
medium with speeds V., Viand Va respectively, then 62. The frequency of a tunning fork is 384 per second and
(1) Vu, Vi and Vs are nearly equal velocity of sound in air is 352 m/s. How far the sound has
(2) Vu=VazV traversed while fork completes 36 vibration
EZWUSY/QS\QV v T AR B AR 384 URT FwvS F TR AY 7 @ BT 352
a< Vyan urVj
WIS (Ultrasonic), STT8 (Infrasonic) T 51 (Audible) /s gSA TR s I H T B T e gRI T B T ¥
T wEmE # wER Y, Y, @V, O § A axd) &, (jam @RBm Qr2am @) Bm
(1) Vu, Vi IR Va T 9 8 ) . ) )
@) Vu> Va > Vi 63. Consider the acceleration, velocity and displacement of a
3) VE < V: < V: tennis ball as it falls to the ground and bounces back.
(4) Va < Vy 3R Vu~ Vi (E;i)re\ftiloni of wlhich of these changes in the process
elocity only
57. Two boys are standing at the ends A and B of a ground (2) Displacement and velocity
where AB = a. The boy at B starts running in a direction (3) Acceleration, velocity and displacement
perpendicular to AB with velocity v,. The boy at A starts (4) Displacement and acceleration
running simultaneously with velocity v and catches the TP < & g felt Sars | iRt § qen E[?Jaﬁ I
other boy in atime t, where t is ! :
79 i o o A8 T T £ FUAMNRG L
a9 sl
AB =a%| B R TS ASH VI q AB T o da : He o Fgrern e
AT FS AT & S T A R G ASH vAT | M N & ()ﬁw
AT URY HRAT § T G ASH BT t G99 § U5S (O} STRET: TSI 19%AITT (4) JASIIe] Tl e
o B WEf ¢ B 64. A ball of mass 400 gm is dropped from a height of 5m. A
5 5 —— boy on the ground hits the ball vertically upwards with a
(1) a/yv” +v @) Ja* 16* =) bat with an average force of 100 newton so that it attains a
(3) alv-v) (4) alv+vy) vertical height of 20 m. The time for which the ball remains
in contact with the bat is [g = 10m/s?]
568. A force of 10 Newton acts on a body of mass 20kg for : o frereh
10 seconds. Change in its momentum is 400 I g P TP G 5 G § ¥ A Sl
10 N®1 & e, 20 kg GeaTH B TH T R 10 sec TP B A Od R G g P ASHT g W docl | SEAferR
FR FRAT 8| 3qD G A IR § R P AR 100 NP T 99 F WER FT ¥ | UER B
(1) Skg m/s (2) 100 kg m/s g - B
(3) 200 kg m/s (4) 1000 kg m/s b uf%:_ﬁ'q’ BRI W MW SAL20M B @ T
55, Abody weiche 700 o the surface of the earth. H I W9 I ool B FUD A &N 8, B [g = 10m/s?]
4 ody weighs gm wt on the surface of the earth. How
much will it weigh on the surface of a planet whose mass (e.J2s RINGes QJ00ss (1R
65. The gravitational potential energy of a body of mass ‘m’ at

is ; and radius is half that of the earth

TP a¥ BT Al O W MR 700 UM 9R 2| S9 UE B
T R SHHT YR T B e S0@E d & o7qH

B ;g—«n T 31 1/2 0 B

(1) 200 gm wt (2) 400 gm wt
(3) 50 gm wt (4) 300 gm wt

the earth’s surface —mgR,. lts gravitational potential
energy at a height R, from the earth’s surface will be
(Here R, is the radius of the earth

m TEE & five @ edl 99 W e R Fat
-mgR, B A 9@ ¥ R, HIAE W IHD ToAN
Refiet wotf 29 (@ R, 9ot @ B §)

(1) -2mgr, (2) 2mer, (3) %ngg () 7%nge
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01 SAMPLE TEST PAPER

PART - IV (CHEMISTRY) {17 - IV (?ﬂ'RF-I ﬁ?ﬂﬁ)
Atomic masses (WA 9R) :[H=1,D=2,Li=7,C=12,N=
14,0 =16, F =19, Na =23, Mg = 24, Al =27, Si=28, P = 31,
S=232,Cl=355 K=39, Ca=40, Cr=52, Mn =55, Fe =56,
Cu =63.5, Zn = 65, As = 75, Br = 80, Ag = 108, | = 127,
Ba = 137, Hg = 200, Pb = 207]

2o o
> 5o

¢

b

K3
¢

¢

o,
°n

o,
°n

o,
X4

)
*

SECTION : (Maximum Marks :45)
e : (3w i@ : 45)
This section contains FIFTEEN (15) questions
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct.
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened
»  Zero Marks 0 If none of the bubble is darkened
> Negative Marks : 0 In all other cases
39 TS § UE (15) U T
TS e § 9R fame (1), (2), (3) A1 (4) § | 37 AR
fawed § & Dot T fawer v F |
TS T W, 98 fRded & agwd gagal $ ol AR, T4
A BTl PN |
JAHT I
> i o 3 Al e 9 Rwer & g W B
> @ e 0 AR g N e T8 g o R
(@i W SrgaRa B) 1
> RO 3G 0 g a) uRRufaa # |

66.

67.

68.

69.

70.

Resonance
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The boiling point of alcohol is 78 °C. What will be the value
of this temperature in Kelvin scale ?
TedhIsd BT q@ATH 78 °C ¥ | Bfcdd I99 W= I8 A9

B ?

(1)373K (2)351K (3)341K (4)78K

We can separate a pure solid from its solution by -
(1) evaporation (2) sedimentation

(3) crystallization (4) None of these

g% o uerd @ S9e fems @ gue far s g —
(1) a9 g (2) TA BB R
() fhedaxe gR1 (4) 579 & g T8

Present unit of atomic mass is -
(1) weight of a proton

(2) weight of a neutron

(3) weight of a hydrogen atom

(4) % th of the weight of C-12 atom

IR B IAAT JBTS AT & —

(1) WEH BT ¥R (2) g &1 9R

(3) TRV BT UR (4) BT C-12 BT % gt T
Mass of 2 electron is -

2 TRATY Feldgie BT AR & -

(1) 1.66 x 102 g (2)6.023 x 1022 g
(3)18.2x 1028 g (4)9.1 x 10-25g

Boiling point of a substance -

(1) decreases with decreasing the pressure
(2) decreases with increasing the pressure

(3) increases with decreasing the pressure

(4) All of these

7.

72.

73.

74.

75.

76.

77.

78.

79.

varef B T~

(1) TE & T B T Tl §
(2)TE & 9G4 B AU Tl §
(3) 19 & Ted B A I §
(4) ST a4

What difference in the property of two miscible liquids
enables their separation by fractional distillation ?

(1) Boiling point (2) Melting point

(3) Viscosity (4) Density

31 519 AT 59 T S1eRT 98 IR T DT e

(1) FagTID (2) TeRTID

(3) feraferdra= (4) T

How many types of atoms are present in a molecule of acetic
acid ?

IFHY B AT H A FHR B URA] IuRerd B B ?
(1) 49 2)3 (3)8 (4) 11

The absolute value of charge on the electron was determined by -
(1) J.J. Thomson (2) R.A. Milikan

(3) Rutherford (4) Chadwick

SolaRd @ B U W aTel A B URYF oM e a2

(1) J.J. oIt (2) RA. fAfere=
(3) TEXBIS (@) T

A gas can be best liquefied

(1) by increasing the temperature

(2) by lowering the pressure

(3) by increasing the pressure and reducing the
temperature

(4) none of these is correct

19 P g9 el sfaqd S S FHA B
(1) AT TSTHY

(2) S B FH BRD
(3) T FIHR T AU ©TT HY
@) T | IS TG
Sublimation property is shown by -
(1) ice (2) sugar  (3) benzoic acid (4) alum
ST BT o0 T Hea B
(1) 9% (2) TFPR  (3) IIIsD AR (4) fhedd
Nitric acid is -
T A & —

(1) Hz804 (2)HCI  (3) HNO3

The mass of a proton at rest is -
(1) zero (2) 1.67 x 10735 kg
3) one amu _ (4) 9 x 1031 kg

R AT § WA BT AR BIAT B -
™) T (2) 1.67 x 10-% kg
(3) Th amu (4) 9 x 1073 kg

(4) Na;CO3

The temperature at which a liquid starts converting into
solid without any rise in temperature is called —

(1) melting point (2) boiling point

(3) freezing point (4) None of these

%a B 3 Iaven § 9 99 R 95 orar g1 fam faed

TRE Bl Y 981 Sq BEd & |
(1) T TS (2) FAATIH

(3) vrma famg @) T & P18 TE

The cream can be separated from the milk by the process of
(1) filtration (2) evaporation

(3) centrifugation (4) decantation

®HH PI gy A

A BT qY faf grr orem fvan o Hoen @
(1) BIFT (2) are
(3) ATB=HRT (4) foraRor
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80. The element capable of gaining as well as losing an
electron is -

e Sl S Soraei™ g T USH B H qed § —
(1) Hg (2) Ca (3) Ag (4)H

PART - V (MENTAL ABILITY) ¥T7 - V (AR graan)

SECTION : (Maximum Marks :60)
e : (3w oiw : 60)
This section contains TWENTY (20) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct.
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened
» Zero Marks : 0 If none of the bubble is darkened
»  Negative Marks : ¢ In all other cases
59 s § 99 (20) w2 ¥
TS e § AR e (1), (2), (3)TAT (4) T 37 AR
fawed # & Dot T fawer v |
% TS T A, 99 P @ Iged gagal B o AR, U9
# Brell B |
JHT I
> ol o 3 AR e 98 Reed & g W B
> I AF 0 AN FE N fAdew TE g M ¥ (s
TR AR ) |
> RS 0 g ) aRRufaa #

X3

¢

X3

-

X3

-

K3

¢

o,
SR X4

/)
*

o,
°n

Direction (81 to 83) Find the mising term.
el (Q.81t0 83) : i U S BN |
81. 2,6,14,26,7

(1) 92 (2) 54 (3) 44 (4) 42
82. BAC, DEF, FIJ, HOO, ?

(1) Jvv (2) Juv (3) JUU (4) JVT

12 8 16 7 25 21
83, \( \'/ \(
?

80 207
(1) 184 (2) 210
(3) 241 (4) 425
84. If SPECIAL is coded as KZHBDOR then ORDINARY would
be?
¥ SPECIAL &1 KZHBDOR &I fhar Wiim ® @
ORDINARY &1l —
(1) ZQBMHCSX (2) XQZOHCQN
(3) XQZMHCQN (4) ZQBHOBQZ

Directions : (85) Read the following information carefully and
answer the questions given below it :
(1) There are five friends.
(2) They are standing in a row facing South.
(3) J is to the immediate right of A.
(4) P is between B and S.
(5) S is between J and P.
fder : (85) ot gaell @ eAIgdD YgdR g A Ry W
el & SR AR |
(1) o= = ve O & sfamr A R ' e TS B
(2) TR, ATAIEd B R IR MR B
(3) UG, W IR g & T H ¥
(4) gAY, AT AR yHIT B T F 7|

Note: The boys are standing facing south. So, consider ‘left’ and

‘right’ accordingly.

e : df= i 2 faer 3 ok q' @ @S B e adn SR

85.

ST 399 AR o B |

T 3DT HH [ SR B

J is to the right of A that is, J, A.

P is between B and S that is, B, P, S.

S is between J and P.

So, the sequence is :

Who is at the extreme left end 7

TS ATAR T AR & o7 § P 8 ?
(MA (2)B

3)S (4) Data inadequate

Directions (86) : In the question below are given two

86.

statements followed by two conclusions numbered I and
II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known
facts. Read the conclusion and then decide which of the
given conclusions logically follows from the two given
statements, disregarding commonly known facts.

T U A 1 BUF AR S 918 @1 frpd =3
T 8| FoFl B IER BW pd FE |

Statements :Some kings are queens. All queens are
beautiful.
Conclusions : 1. All kings are beautiful.
II. All queens are kings.
(1) if only conclusion I follows
(2) if only conclusion II follows
(3) if neither conclusion I nor II follows
(4) if both conclusions I and II follow.

FUF : FB SN I, AR AT R F |

frepd - Loefl I R B 1L 9 i ] g
(1) Baa 1y 98 B

(2) Baa 11 s @8 B

@) B1E N ey @@ 8 R

(@) 31 ey w8 B

Directions : (87) These questions are based on the following

statements Ram and Shyam are good in Computer and
Hindi. Deepa and Ram are good in Hindi and English.
Shyam and Bharat are good in Cricket and Computer.
Mohan, Bharat and Ravi are good in English and Cricket
Ravi and Mohan are good in English and Drawing.

fadwr : (87) Frfofea wuHl & MR W 1B W ywEl B TR

87.

88.

AR

I T WH FERER T /=Y H o ¥ A den I
= dom oUSh A oew ¥ WM Al W e T
FEER | TP ¥ AIEE, WRa qU1 Y SfUSh 7 frae A
areg ¥ | < e AEd SRSl 9 wen | s |

Who is good in English, Cricket, Hindi and Drawing ?

(1) Ram (2) Bharat

(3) Shyam (4) None of these

/1 § @ B9 oih, fbade, = Jo SR o=El B2
(1) ™ (2) 1T

(3) =™ 4) 3T A PE TE

Pankaj met his friend three days ago. He told his friend
that he had his last exam five days later. He met his friend
again, three days after the exam. 6 days after he met his
friend after the exam they left for a vacation. The day on
which they left for a vacation is Saturday. What is today ?
(1) Tuesday (2) Monday

(3) Saturday (4) Wednesday
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01 SAMPLE TEST PAPER

el o A A R uset e ¥ a8 om A @
T & f5 S diftw wen &1 fim dw T 9w 7 | W
TH B & A9 9 97 98 o i F R fear B
e @A BW B 95 7 AT § fiem & 918 gl T & 6 e
a1 & gfedl @ forw o ¥ e R A gfedl w o ¥ v
R o o1, o1 oot &1 R B o ?
(1) FeAR (2) IR
(3) oaR (4) AR

Directions : (89) The figure (X) given below is the unfolded
position of a cubical dice. In each of the following
questions this unfolded figure is followed by four
different figures of dice. You have to select the figure
which is identical to the figure (X).

frder - (89) MY (X) T o U9 B W B! I G
fegmn w21 71 9w § U9 @Y 98 gl e
IR A= o & yeRia &t §1 et S§ U™ @
AT HRAT § O AEHRT (X) ITAR T B |

89.
A

(™) @
3) ()

Direction (90 to 92) : Find the missing term ?
forder (90 ¥ 92) : ot 9o F w1 ug @ B ?

90. 2,3,4,6,12, 7, 156
(1) 36 (2) 42 (3)24 4) 27

91. 1BR,2EO, 8HL, 15KL ?
(1)22NF  (2)31NF (3)31NE (4) 28 NF

5 21 51

92. |16 |109] 2 | [22] 53|19 | [17] 7 [48]
6 15 13
(i) (ii) (iii)

)7 ()25  (3)129  (4)625

93. If watch is called room, room is called bag, bag is called
rain, rain is called air and air is called water, Which is
used to carry the books ?

(1) room  (2) bag (3) rain (4) air

I T BT FA HE WY, TR BT Al FE o, I
H1 qut HE AT, Iu BT T4 AR FA BT UN BE W,
o frasdr Sua fbae o o & oy fban oiman ®1

M &R (2) gl (3) aut (4) g

94. In question no. 85 Who is in the middle ?
7T H P IST g1 B ?
(1) B (1) (2)J ()
(3) P (i) (4) S (geer)
95. Statements: Some books are tables. Some tables are
mirrors.
Conclusions : |I. Some mirrors are books. Il. No book is
mirror.
(1) if only conclusion I follows;
(2) if only conclusion II follows;

(3) if neither conclusion I nor 1T follows;
(4) if both conclusions I and II follow.

FUT T BN A T | HB AT A E |
= 1o s frard &1 11 318 W frae engem 98 7
(1) Baa 1y @8 B
(2) Baa 11 frad @8 21
@) B1E N ey w78 7
@) < foread w& B
96. In question no. 87 Who is good in English, Cricket and
Computer ?
(1) Asha  (2) Bharat (3) Charu (4) Ravi
ye W 87 § A A @ BN Wi fasmH, |
I T T H S B2
()emem  (2) 9 @)aI™®  (4)3fd

97. If in leap year it was Monday on 1 January than, the leap
year can have the maximum Saturdays are.

o v o B 1 FIR B QAR a7 A SAH A
fo afar & Fad B
(1) 51 (2) 52 (3)53 (4) 54

2 6 5 1

98.
13413242

0] (it) (iii) (iv)

Which number is opposite to number 5 ?
I 5 ¢ fuRa e A € ?
(M4 (2)6 (31 (4)3

99. If Y =50 and BAT = 46 then GOA will be equal to
IfE Y = 50 T2 BAT = 46 79 GOA =7
(1) 39 (2) 46 (3) 48 (4) 44

Directions (100) :
Eight friends A, B, C, D, E, F, G and H are sitting in a
circle facing the centre. B is sitting between G and D. H is
third to the left of B and second to the right of A. C is
sitting between A & G and B & E are not sitting opposite to
each other.
3G S A, B, C, D, E, F, GAATHTH ] & §a § 98
T35 1B, GTAND P dg § 9o B| H, BB a0
R MW WHF W T2 A $ a1 &R gW R_F R qa
BIC,ATG & dlg # 91 B I E Yoh—gaR & fJuRa =&l
I

100. Who is third to the left of D ?
D & dfH iR W wMH R I 97 & ?
MF @E
3)A (4) Can’t be determined

fuiRa =8 fFar o1 F@
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 Solal
36. Possible length of triangle are 4, 6, 8 so required number
ANSWER KEY TO SAMPLE TEST PAPER-1 of triangle is 1.
1. (3 2 1) 3 (1) 4 (1) 5 @ 37. Sem g o
6. (2 7. (@ 8 (1) 9. (1) 10. (2 D ! c
11. (1) 12, (2) 13. (4) 14. (1) 15. (2
16. (1) 17. (2) 18. (2) 19. (2) 20. (2
21. (1) 22 (4) 23. (2) 24. (3) 25. (1)
26. (1) 27. (2) 28. (2) 29. (2) 30. (3)
3. (4) 320 (2) 33 (1) 34. (1) 35 (3)
3. (3) 37. (2) 38. (2) 39. (4 40. (2
41. (2) 42, (3) 43. (2) 44. (3) 45. (2)
46. (3) 47. (3) 48. (2) 49. (3) 50. (1)
5. (3) 52. (4 53. (3) 54. (3) 55 (4)
56. (1) 57. (2) 58. (2) 59. (2) 60. (4) .
61. (3) 62. (4 63. (2) 64. (1) 65 (4) A 6cm B
66. (2) 67. (3) 68. (4) 69. (3) 70. (1) Construction : AE || BC
71. (1) 720 (2 73. (2) 74. (3) 75. (3) So, AE = BC = AD
76. (3) 77. (3 78. (3) 79. (3) 80. (4) or, DE = AB = 6 unit.
81. (4) 82 (3) 83 (1) 84. (3) 85 (1) 1
86. (3) 87. (4 88 (1) 89. (4) 90. (1) Area of trapezium = — h(a + b) = 36
91. (2) 92. (2) 93. (3) 94. (4) 95. (3) 2
9. (2) 97. (2) 98. (3) 99. (2) 100. (1) 1
—h(6 +12)=36
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-1 h2 § =35
X —
26. h=4cm.
IfAE=a=AD
1
Area of AAED = EXG x4
= \/(a+3)(a+3—a)(a+3—a)(a+3—6)
12=3,/(a+3)(a-3)
a?-9=16
ABCD is a square inscribed in a circle with centre O. a =525
a =
Radius = OA = 84/2 cm. Join OB. Angle subtended by So, BC =5cm.
the side of the square at the centre is 90°, therefore
In triangle AOB 38. px+y=9
/AOB = 90° 0+y=9(0,9)is asolution
AB2 = AO? + OB? ax+0=9
x=9/n
AB2 = (8+/2 )2+ (84/2 2 = 128 + 128 = 256 (9/m, 0) is a solution.
AB = 256 =16cm. 41. Join OC and AD
30. E={1,4,9, 16,25, 36, 49, 64, 81, 100} n(E) = 10 Qa=08= O = 1oam (rdi)
s={1,2, .., 100}
n(S) = 100
P(E) = 10/100 = 1/10.
32. Weknowthatx® +y3 +2z3—3xyz=(x+y +z)(x2 + y2 + 22—
Xy — yZ — ZX).
Hence, a® +b® +c®-3abc =(a+b+c)@ +b2+c?2-ab -
bc - ca)
=9(a? + b2 + c? - 26).
Now, we know that (x + y + z)2 In right angled AOCP
=x2 +y2 + 72 +2xy + 2yz + 2zx. OC? = OP? + CP?
Hence, In right angled AOCP
a?+b?2+c?=(a+b+c)-2(ab +bc + ca) CP2 = OC2 - OP2= (15)2 — (9)2
= (9)? - 2(26) =225 - 81 = 144
=81-52
=29 CP= 4144 cm=12cm
Hence, CP=PD=12cm
a3 + b3 + ¢3 — 3abc = 9(a2 + b? + 2 — 26) Now in right angled AAPD
= 9(29 - 26) PD=12cm AP=A0+0OP=15+9=24 cm
=9(C) AD2 = AP2 + PD2 = (24)2 + (12)2 = 576 + 144 = 720
=27. AD = 4/720 cm =12+/5 cm
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46.

47.

49.

66.

81.

82.

83.

84.

94.

01 SAMPLE TEST PAPER *, :\'* *

(0.44)% +(0.06)? +(0.024)?
(0.044)? +(0.006)? +(0.0024 )
- (0.44)? +(0.06)2 + (0.024)?

(0.44)% x107 + (0.06)* x 107 +(0.024)% x 1072
(0.44)? +(0.06)? + (0.024)?
1072 ((0.44)2 +(0.06) + (0.024)2)

1 2
= —— =10¢=100
1072

7x2 - 5x2 = 2x2
So it contains only one term so it is a monomial.

Volume of the given tank = 10 x 5 x 6 = 300 m3

If height of the water level is 1 less than the
previous then, new volume is = 10 x 5 x 5 = 250 m3
So, volume of water which is takeout is

300 — 250 = 50m?3

/CDB and ZCAB are on the same arc so they are equal
/CDB = ZCAB = 40°

In triangle Z/ACB = Z/ABC = 90° [Angle in a semi circle is
90°]

/ACB = 180° - Z/CBA — /CAB

=180 — 90° — 40° = 50°

temperature in kelvin = temperature in °C + 273
=78 +273

=351

Hfead § AU =°CH AU + 273

=78 +273

=351K

(D) The pattern is (ITU ) +4, +8, +12, .......

Second letters are vowels in the order A, E, |, O, ? first
letter of every term moved two steps forward and third
letter of every term are moved + 3, + 4, + 5, ... steps
letters forward.

(A) The lower number is the difference of the squares of
the upper two numbers. Thus,

In figure (A), 122 — 82 = 80.

In figure (B), 162 — 72 = 207.

.. In figure (C), missing number

=252 -212 =625 — 441 = 184.

The letters in the word are reversed and each letter has
preceding letter as code.

ORDINARY > YRANIDRO

N

XQZMHCAQN

(D) S is in the middle.
ey 7w # 9o7 gam B
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SAMPLE TEST PAPER

(For Class-X Appearing / Passed Students)

Course: Moving from Class-XI to Class-XII

TARGET AIIMS/NEET

S.No. Subject Nature of Questions No. of Questiolr:tarks ::c:::'.::tw arde\:lrong Total
1t040 PART-I (Biology) Single Choice Questions (SCQ) (®da T&H fdwu ¥ ) 40 3 0 120
41t0 60 PART-II (Physics) Single Choice Questions (SCQ) (®da T&H fdwu | ) 20 3 0 60
61 to 80 PART-III (Chemistry) | Single Choice Questions (5CQ) (®ael T& &y & ) 20 3 0 60
81t0100 | PART-IV (Mental Ability) | Single Choice Questions (5CQ) (®adt T& fawy <t ) 20 3 0 60

'PART - | (BIOLOGY) 417 - | (5fta fa=im)

SECTION : (Maximum Marks :120)
s : (s iF 120)
This section contains FOURTY (40) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
% Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened
» ZeroMarks : 0 If none of the bubble is darkened
> Negative Marks : 0 In all other cases
% 39 EE H geiN (40) W B
& yhG gy § AR fawe (1), (2), (3) 9UT (4) ¥l 39 TR
fawed # & ot TP fawer v |
% TG U |, 98 fIwed & IgwU goigal Bl . IR TH.
H BTl PN |
% 3BT A
> Tl oiw : 3 afe Raw @ e & g m g
> I SE c 03R FIE A fFe T g 7 (srifq
TR AR ) |
> U D - 0 o Wit aRRerfeat 7

X3

o

X3

%

b

K3
S

1. Wavelength of PAR is

PAR @ dwired ¥ |
(1) 200 — 400 nm (2) 400 — 700 nm
(3) 700 — 900 nm (4) 100 — 200 nm
2. The breakdown of oxyhaemoglobin into oxygen and

haemoglobin in the tissue will be increased if

(1) Blood pH increases

(2) COz2 in blood increases

(3) Decreasing quantity of free fatty acids in blood
(4) Blood pH decreases

SABT H IMRA—EFFSGT BT RIS T ErHTenfaT
# fagve 9 ol 2 I}

(1) SR BT pH Jg WY

(2) R BT CO, 98 MY

(3) BffR & wWdsl 99 3l B AT e W

(4) SR BT pH TS WT |

What is wrong about facilitated diffusion.

(1) It is highly selective

(2) It shows uphill transport

(3) It requires carrier protein

(4) It proceeds according to concentration gradient with
out expenditure of energy

o foeRe & aR § T/ T © -

(1) T8 I TS BT &

(2) T8 ufeer uRagw &1 geiiar &

(3) 399 ford a1l WA B ArgEHar Bl }

(4) T8 SUMER ol B WY {6y arsar yaurar @

AR B B

Waste products of protein metabolism which are excreted
in urine by man

(1) Uracil, ammonia, urea

(2) Urea, uric acid, sodium chloride

(3) Urea, melanin, guanin

(4) Urea, uric acid, creatinine

A b 7 F OIS SUMag & BeRawy 9 aod ard BT §
(1) T, s, g

(2) IR, RS 1, AIFETH FARTSS

(3) IR, gR® a1, Tarif=

) gRan, gRe® e, farufef=

A man is admitted to a hospital. He is suffering from an
abnormally low body temperature, loss of appetite, and
exterme thirst.His brain scan would probably show a tumor in
(1) Pons (2) Cerebellum

(3) Hypothalamus (4) Medulla oblonggata

Te A sraaTe # Wit B 98 $W INR AT, O B FA

AR 957 At W™ ¥ DT ¥ 99 ARTH T @A
fFa 9 A TgwR R gea B

(1) dt=a (2) IrgARTD

(3) EUdeHd (4) Fgen 3MeATer
Which of the following does not require pollinator
(1) Ornithophily (2) Anemophily

(3) Cleistogamy (4) Hydrophily

e & [ IR ATaTS TE B |

(1) sifffenfeh (2) gfrfen

(3) TR (4) BTSSR
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If the blood group of son of a couple is 'O' and its mother's
blood group is 'B'. Which of the following blood group will
not present in its father.

I TF TN B GF BT GER G 'O' ¥ TAT SHS! A
T W B' B 9 # § w SR W zee faan A
Sufkera &1 BRI |

(10 (2 A 3)B (4) AB

Human is considered as Omnivorous. Which of the
following animal is also involved in this category

(1) Frog (2) Hawk (3) Crow  (4) Fish

99 BT FAER! A oran B, R A @ e o= oA
39 oof A wfde & -

(1) Hed  (2) I

Ex situ conservation is carried out in:

(1) Sanctuary (2) National park

(3) biosphere reserve  (4) Zoo

TRRATH WRETT (Ex situ conservation) fh< far Sirar 7

(1) JIHIRTY (2) T A
(3) 3@ Avsd Red  (4) Sgener™

Light reaction in stroma lamellae of the chlorplast results
in the formation of

sRaeTads B IgET uefrdieh | BN aren wabre afifha
% URITRGHT T I B |

(1) NADPH2 (2) ATP + NADPH2

(3) ATP (4) 02

Diaphram during inspiration

(1) Contracts (2) Expands

(3) Remains unchanged (4) None of them

fread @1 sraven § srIwmA

(1) Rreger & (2) B &

(3) eaRafiia e & (4) T 9 g T8
Osmotic pressure of a solution is

(1) More than that of pure solvent

(2) Less than that of pure solvent

(3) Variable depending upon concentration

(4) Equal to that of pure solvent

T e B IR g9 2|

(1) g€ faems @ afdw®

) g€ faems & o9

(3) aRac= o, |rsar W R

(4) 7= fooms & R

Maximum reabosorption of sodium and water occurs in
(1) Proximal convoluted tubule

(2) Distal convoluted tubule

(3) Loop of Henle

(4) All of them }

AT qA el BT AAIID FARNTOT Bl &Il &

(1) TR ST Al
(2) T Fosfaa Afa®1
(3) 7T BT U

(4) 3 N

(3) BRI (4) 7Dl

Body co-ordination is exhibited by
(1) Blood vascular system

(2) Nervous system

(3) Endocrine system

(4) Nervous and endocrine system
R B AT T §

(1) TR aRF=RT T

(2) af*@T =1

(3) =TT T

(4) af*=pT TT Tl a=

15.

16.

17.

18.

19.

20.

21.

Carrying of male gametes by pollen-tube is called
(1) Porogamy (2) Zoodiogamy

(3) Siphonogamy (4) Chalazogamy
WIS RT R GG BT of ST bEelial |
(1) TR (2) SIfear

(3) ATSHIATIRE (4) DoroTITH!

It Anitrrhinum majus, red (RR) flowered plant is crossed with
white (1) flowered plants. On selfing  of F1 generation, F2
generation obtained. How many phenotypes produced & what
was the % production of red flowered plants respectively
in F2 generation.

(1) 2, 50% (2) 3, 25%

(3) 3, 50% (4) 25%

TR A9 § o (RR) JORIRY 9180 &1 390 R
(rr) UIEY B W HIA HIWT T B Fr AN B WA |
Fo 91w &1t B| Fo 9 § s fhaw @eror g

IUF gY AT AT Y gredl BT fham % Seared

BT |
(1) 2, 50% () 3, 25%
(3) 3, 50% () 25%

The breakdown of detritus in to smaller particles by
detrivores. Which of the following is not detrivore?
(1) Earthworm (2) Bacteria
(3) Fungi (4) Sparrow o
JIRTEN] ERT JRE HT AU GeH B0 # g g
q P qRIE TE 77

(2) Sftary

(1) dgan
(3) HaH (4) IR

Which of the following is most dangerous to wild life?
(1) Over exploitation

(2) Man made forest

(3) Habitat destruction

(4) Introduction of foreign species

= % A P9 79 odl & g wad e wae @
(1) sifereieor (2) wra fAf¥fa a=

(3) A faeres (4) T SRTET BT qRIATIA
Leaves appear green because they

(1) Reflect green light

(2) Absorb green light

(3) Both reflect and absorb green light

(4) None of the above

ol &9 i@ < 8, e 9

(1) ® YorEl Bl wREfdd B B

(2) ® BT Bl AT B B

(3) & ¥HTE Bl WREART AR @G SH B B
@) | B8 T

Which structures are end part of the branch of trachea and
take part in the exchange of gases

(1) Tracheoles (2) Respiratory branchioles

(3) Terminal branchiole  (4) Alveoli

1 § 9§ B o wwgE @ fre a1 et a7

qen I~y fafa &1 @i §
(1) zfara (2) arg HIDT
(3) TasAf~pTY (4) a1g BIfSHT

Diffusion is very important to plants since it is the only
means for ..........c.....

(1) Water translocation in root

(2) Gaseous exchange within plants

(3) Mineral translocation in root

(4) transport from phloem to sink
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faerer wigw @ forg Aot ufhar ¥ Wi ag P
e A g §

(1) 9§ S uRasT @

(2) " # AT AEH-TEE B

(3) 9 A @ e uRag &

(4) TAH ¥ G | T B URTET B

Which part of nephron is not situated in the cortical region

of the kidney.
(1) Malpighian corpuscle (2) PCT

(3) DCT (4) Loop of Henle

B BT BT I G5 D degerd & F Rerd - S -
(1) Fe <= (2) PCT

(3) DCT (4) T BT U

If a person has lost his memory in an accident, the
following part of the brain have got injured

(1) Diencephalon (2) Medulla oblongata

(3) Cerebellum (4) Cerebrum

5 =afts @1 & gee § T T & It 2 @

# W TP I gelenIRd gAT B, 9B ® —
(1) STEUARTBE (2) wrggen Sifeiirer
(3) g™ (4) T5H

How does Amoeba reproduce?

(1) Binary fission (2) Budding

(3) Fragmentation (4) Both (1) and (3)
IHe1, T 59 GBR Fxar B ?

(1) fefawrsH gt (2) gBe &R
(3) fravsa g (4) (1) @1 (3) EFL

Analogous organs are
(1) Simlilar in function
(3) Non functional

(4) Similar both in structure and function
HART T BT B

(1) &1 & FHH
(3) Brfad=
(4) Brd T4 YT S A qHHE

(2) Similar in structure

(2) W& H FHH

Which of the following shows most functional
characteristics of an ecosystem ?

(1) Pyramid of energy  (2) Pyramid of number

(3) Pyramid of biomass (4) All of the above

= # @ e ve wRRufte o &1 ww s
T B ?

Mool o1 fiRifAe (2) 9= @1 iR

(3) VT MR & iR (4) SWRIaa T+

Soil erosion can be prevented by -

(1) Over grazing

(2) Removal of vagetation

(3) Afforestation (Plantation)

(4) Increasing bird population

T REH BT AT FHA & —

(1) =R RT (over grazing)

(2) T BT BeTBR

(3) GERTIT gRIT

(4) Tferal &) FEed (population) IGTHR

Physiological calorific value of protein, fat, carbohydrate is
respectively

WS T TN FHEESSC B PHIS Bkl Tod FAA: B |
(1) 4 k.cal ; 7 k.cal ; 4 k.cal

(2) 5.65 k.cal ; 7 k.cal ; 4 k.cal

(3) 4 k.cal ; 9k.cal ; 4 k.cal

(4) 4 k.cal ; 5.65 k.cal ; 4 k.cal

29.

30.

31.

32.

33.

34.

35.

How many molecules of oxygen (Oz) are used during the
glycolysis of one glucose molecule?

(10 2)1 (3) 36 (4)8

TP @AY B TARSIGNE $ aRM R @
e ey SuEn Y oy € —

(10 2)1 (3) 36 (4)8

Which of the following has the thickest walls ?

(1) Right ventricle (2) Left ventricle

(3) Right auricle (4) Left auricle

= 7 A feae ARk waifte @k ad g ?

(1) T o (2) 9% foera

(3) T anfers (4) I anfers

Main excretory product in the urine of frog

(1) Urea (2) Ammonia
(3) Allantoin (4) Uric acid
P B T F I Icwvil uaref 8§
(1) afn (2) st

(3) Toretad (%) IR® et

Which one of the following growth regulators is known as
stress hormone?

(1) Abscissic acid (2) Ethylene

(3) GAs (4) Indole acetic acid

f=fafea # & s=-—w1 gfg = ufee smia & W

A ST S 8P
(1) TS e
(3) GAs

(2) vrIfem
(4) st THIfed areat

Cells of Leydig are found in

(1) Connective tissue of testes
(2) Kidneys

(3) Seminiferous tubules

(4) Islets of Langerhans

AT BT et e okl 2
(1) ST BT AN D

() 3=

(3) TR AAferaT

(4) NREW B9 B

Which of the following exhibit analogy

(1) Paddles of whale and hands of man
(2) Wings of pigeon and wings of butterfly
(3) Wings of birds and wings of butterfly
(4) None of them }
1 % A P9 wEeIdar yeRid axa §
(1) e S TG T AT B FA

() FER & U@ T TANGE B TG

(3) e & tg g fadell & o

@) T | IS T8

Which of following cannot place at specific trophic level in
a food chain?

(1) Quaternary consumers

(2) Saprophytes

(3) Parasites

(4) (2) & (3) both

= A 9 o9 T" gaa 9 F e oy 'R ow
TE XY O A &?

(1) =qefe SuHTaRT

(2) elraofdr

(3) TR

(4) (2) Torm (3) &I
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Which method is most effective in controlling floods
(1) Digging deep canals (2) Reforestation
(3) Deforestation (4) Constructing dams

916 &1 R o § e oo g9l e iy & —
(1) &Y B WeAT  (2) I IR0l (Reforestation)
(3) JTNBRYT (deforestation) (4) d7ell &1 AT BT

If we take food rich in lime juice then

(1) Action of ptyalin on starch is enhanced

(2) Action of plyalin on starch is reduced
(3) Action of plyalin on starch is unafected

In the given circuit, the potential of the point E is

Fore o ¥ fasg E @1 fawa @

+ .- E 1Q
A F e VVVV—‘ D
8V
ANV C
B 5Q L
(1) Zero () (2) -8V )

(4) Action of plyalin on starch is stopped. (3)—4/3V (4)4/3 Vv
e &9 o d Aig T FT STAN B A FJ1 AW ?

(1) rd W <Efed @) fhar 9 S |
(2) rd R eEfed @ fhar ge W |
(3) T W egfem @ fhar af <eh

(4) rd R <Efed @ fhar e S|

42. At a certain place, the horizontal component of earth's

magnetic field is \/gtimes the vertical component. The
angle of dip at that place is

B o\ w Y gRe 8 Tee w1 SR Ted |
V3 T R A S R W A IO 8

38. What _is the rati_o of CO: liberation between anaerobic and (1) 60° (2) 45° (3) 90° (4) 30°
aerobic respiration
T ATIET ITET B 9 COs ﬁﬁﬁﬁ B T 43. Two plane mirrors are at 45° to each other. If an object is
S placed between them, then the number  of images will
be

M3:1 (224 (3)2:2 (@4)1:3 T AT UV IRER 45° BT BT 14 8, 398 AT Th

39. Enucleated blood cell is/are— R G A G B, A A FA wfaE By
(1)RBC  (2)WBC  (3) Platelets(4) (1) & (3) both ey -
fs=figa(Enucleated) Th BIRIET 8/8—

(1)RBC  (2JWBC (3) wicoled (4) (1) T (3) It s S T “8
44. When a piece of aluminium wire of finite length is drawn
40. In diuresis through a series of dies to reduce its diameter to half its
(1) Quantity of urine Increases original value, its resistance will become
(2) Quantity of urine decreases (1) Two times (2) Four times
(3) Urine becomes concentrated (3) Eight times (4) Sixteen times

(4) Urine contains extra sugar
SIEgORM(rerdn) # 1 8ar §
(1) T B 7= 9 o B

(2) T B A B B AR 7
(3) T @ Al 98 SR ©

: 45. Two equal bar magnets are kept as shown in the figure.
(4) 9 ¥ S B AHT 96 9N 7 The direction of resultant magnetic field, indicated by

arrow head at the point P is (approximately)
PART - Il (PHYSICS) 97T - lI (“ﬁﬁ'cﬁ ﬁEIFT) 3 T O T T f%ﬁlﬂ'\‘ﬂ‘\’ PR @ £ ﬁ'rg PR
SECTION : (Maximum Marks : 60) gRemHt gr@E &5 o R, R IR w1 A et 7
s : (e 3w :60) ERINGRER))
This section contains TWENTY (20) questions. s
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the P
correct option in the ORS
Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened 7
> ZeroMarks : 0 If none of the bubble is darkened Mm— @ (3)
> Negative Marks : 0 In all other cases
39 @S A 99 (20) WA |
TP U H AR e (1), (2), (3) @M @) &1 37 =R
fawped # 9 It T fawer v 2|
& TS T A, 99 v & aged gagal B o AR, U9

v Afta o & YgHIfE & aR @ digar 9t
T 3T B AT A B, A SEHT IRRIY & AW

(1) AT (2) IR T

(3) &S T (4) <rete T

K3
3

X3

-

b

K3
¢

-

~ (4)I

46. If an observer is walking away from the plane mirror with
6m / sec. Then the velocity of the image with respect to
observer will be

5 Rer Todd o & A B8 Veld 6 Hiex/AdTs
H el YT F R 1 Y& B | I YD

o,
IR X4

)
*

# Brell B | P el 39 Uffer BT 99 B
< 3HT AI ; (1) 6m /sec (2) —6m / sec
> ol o : 3 Ifs R | fawen & g mam B (3) 12m/ sec (4) 3m/sec
> I T 0 AR B1E i Reew T8 g ¥ (g
TR ARG ) |

> U &G 0 oy g gRRufaEl §
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47.

48.

49.

50.

51.

52.

02 SAMPLE TEST PAPER

In a neon discharge tube 2.9%10' Ne™ ions move to

the right each second while 1.2x10'® electrons move to

the left per second. Electron charge is 1.6 x 1072 C . The
current in the discharge tube

(1) 1 A towards right (2) 0.66 A towards right

(3) 0.66 A towards left (4) Zero

e e fowsts ot & 2.9x10¥ Ne* emaa wfy
Jdopve Tl e T 1.2x101° goae ufy dwve ardi

W® Tt T S W AT 1.6x107° Fedi |
faasta Tt § aRT @1 A AW

(1) 1 VPR T IR (2) 0.66 VYR ST QiR

(3) 0.66 VfFuER aTEY 3R (4) T

A long magnet is cut in two parts in such a way that the
ratio of their lengths is 2 : 1. The ratio of pole strengths of
both the section is

(1) Equal (2) Inthe ratioof 2 : 1

(3) Inthe ratioof 1:2  (4) In the ratio of 4 : 1

TH oW gEad BT Q1 WA W g9 TSR il o § %

ITH! AT BT AU 2: 1 A B | A AN B g
waeg g

(1) SRTSR

(3)1:2 @ gum A
The focal length of a concave mirror is f and the distance

from the object to the principle focus is x. The ratio of the
size of the image to the size of the object is

TEh Iadd U P BHE g0 [ T AU T BIeY
(Principle focus) & T P ?{:\ﬁ x g ufofe= &
ATHR T A B AR A Ry anh

2
w9l ,/1 @ L
S X X X

In the figure shown, the total resistance between A and B is
AW REA 4 R B & 99 o gy 8

20 c10 10 10 10 10

(2)2: 1% orguma #
(4)4 1% orguma #

8Q 40

B 20 D19 12 12 10 10
M 12Q (2 4Q (3) 6Q2 4) 8Q2
In the case of bar magnet, lines of magnetic induction
(1) Start from the north pole and end at the south pole
(2) Run continuously through the bar and outside
(3) Emerge in circular paths from the middle of the bar
(4) Are produced only at the north pole like rays of light
from a bulb
T0E PG B Y TRHIG IRV BT A 3@
(1) ST ga & fFworh & qon sfrel g w® wara @ch §
(2) T8 TG B MR AR &R Aad Ed
(3) 59D B ¥ T 9 W Awerh &
(4) ST ga ¥ Pad AR BN B, AW TBR ded |
Tarer fopvot

In a concave mirror experiment, an object is placed at a
distance x,; from the focus and the image is formed at a

distance x, from the focus. The focal length of the mirror
would be

I TP add ST B BIHE F x, 540 W Red axg a1
R Bed § x, T W I & @
A9 B wiew g 8RN

(1) x,x,  (2) yJx;x, (3) % 4) X
Xy

53. In hydrogen atom, the electron makes 6.6x10"
revolutions per second around the nucleus in an orbit of
radius 0.5 x10'°m . It is equivalent to a current nearly
BRI WA A godg, TG @ ARl AR ufy davs
05x100, =@ Pf FRa T SHS FH @ e
0.5x107104# ¥ | 59 Goaie @ Agd URT T B
M1A @1mA (&) 1lud (4)1.6x1077 4

54. The magnet can be completely demagnetized by
(1) Breaking the magnet into small pieces
(2) Heating it slightly
(3) Droping it into ice cold water
(4) A reverse field of appropriate strength
T B [ wE fagwfea fbar o 9o @
(1) =F BT BIT-BIC THS A ATSHY
(2) 39 ATl A1 T BB
(3)3V 9% P TS O § S[ABY
(4) Sfad e\ & e famia &% @ g

65. How much water should be filled in a container 21 cm in
height, so that it appears half filled when viewed from the
top of the container (giventhat ,u, =4/3)

(1)8.0cm (2) 10.5cm
(3)12.0cm (4) None of the above
213 9 gid # fbg S 9o 9 W) OR fb add

HR A T W M R WA B (R y o, =4/3)
(1) 8.0 94 (2) 10.5 &
(3) 12.0 ¥#f (4) SIRI® |7 | BIS T8

66. n equal resistors are first connected in series and then

connected in parallel. What is the ratio of the maximum to
the minimum resistance

n TP FAE URY Tgel AhA § WIS O & R SRR
HH H A BT I AT TR BT ST B

1 2 1
(n @ = ©@n “ -
n n

57. A ray of light is incident at an angle i from denser to rare
medium. The reflected and the refracted rays are mutually
perpendicular. The angle of reflection and the angle of refraction
are respectively r and r, then the critical angle will be
TH UHT B {HRo7 Fo= A1egq 9 fRa A1emq R o7 |

amufea B 8| wrakla va srmafia fawel weR oeaa
¥ | WIadT Td mad= H0 HAE rqen ¢ ¥ 99 Hifis
BV (TRA BIVT) BT

(2) sin™! (tan ")
(@) tan'(sin?)

1) sinfl(sin r)

(3) sin”! (tan i)
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68. The reading of the ammeter as per figure shown is 61. is a physical change where surface molecules
(T-grouping) : a1 # e BT UIs B of a liquid escape.
20 (1) evaporation (2) condensation
AW (3) foaming (4) None of these
20 2v __ e uRada 7 g9 & wag ardl Y] S W § —
— e — (1) T (2) e
A (3) ST &1 @) T & BIg TR
20 62. Formalin is 40 % solution of -
’ 5 WWI (1) methanol (2) methanal
1) — 4 2) 24 3) 4 4)2 A (3) methanoic acid (4) none of these
()8 ()4 ()2 @ BT Bl § 40 % HFT 8T & —
59. A beam of light is converging towards a point / on a (1) HIATE B (2) HATA BT
screen. A plane glass plate whose thickness in the (3) AATS®H A BT (4) 3 | B3 T8
direction of the beam = ¢, refractive index = pu, is

) Lo s
introduced in the path of the beam. The  convergence 63.  Which of the following is a ferrous alloy

int is shifted b (1) Solder (2) Invar
point Is shifted by (3) Brass (4) Magnalium
e FT fawer §9 o W B g I afaRa @ @ et 3§ B < Prserg § —
2| Th I B B FARR Wi TE@T AlSl ¢ e _
_ . _ (1) Hies? (2) TR
JUEAF u B P B0 §F @ uy A @ o 7oA (3) 7 (4) A
IR fasg favenfia & SR . :
64. Methane is insoluble in -
(1) r[l—i] away ¥ (2) ,[HL] away X (1) ether (2) water
H M (3) alcohol (4) carbon tetrachloride
i |9 forer F arfoerg g & —
(3) t[l——] nearer 914 (4) Z[HL] nearer U (1) 2R ) 5
H H IR
60. The magnetism of magnet is due to @7 () P é‘;;ﬁ?ai?l?;@
(1) The spin motion of electron (2) Earth 65. Which of the following is a correct pair according to
(3) Pressure of big magnet inside the earth increasing atomic number ?
(4) Cosmic rays PITET ST WA HHS D T g HI A & —
gD ﬁwﬁ‘*"aﬁ' @1 DR E (1) Db, Ta (2) Au, Ag
(1) gerEgTs @1 efta iy (2) gt (3) Mt, Ds (4) Bi, Te
(3) gt F 9y FEHII TG P PR 66. Oxidation is a process which involves :
(4) BiRkFD fHvol (1) Addition of oxygen
(2) Removal of hydrogen
i} i} (3) Loss of electrons
PART - lll (CHEMISTRY) 4T - lll R¥=™H fa?ﬂ:[) (4) Al are correct
Atomic masses (WRATY 9R) :[H=1,D=2,Li=7,C=12,N= IffRNHRT 98 UHH & s —
14,0 =16, F=19, Na =23, Mg =24, Al =27, Si=28, P = 31, N =
S=32,Cl=355 K=39 Ca=40,Cr=52, Mn=55, Fe =56, (1) SffeRifer 1 FT S B
Cu=635, Zn =65 As = 75, Br = 80, Ag = 108, | = 127, (2) BRIV 1 T B &
Ba = 137, Hg = 200, Pb = 207] (3) SOTE BT W Bl 7
SECTION : (Maximum Marks :60) @) o AT I B
s : (m % :60) 67. Some substances are given below :
< This section contains TWENTY (20) questions. (a) magnesium oxide  (b) carbon dioxide
< Each question has FOUR options (1), (2), (3) and (4). (c) sulphur dioxide (d) calcium oxide
ONLY ONE of these four option is correct. Which of the above substances, when dissolved in water,
<  For each question, darken the bubble corresponding to the turn blue litmus to red ? Select the correct alternative.
correct option in the ORS (1) (a) and (b) (2) (b) and (c)
< Marking scheme : (3) (b) and (d) (4) (a) and (d)
> FullMarks : 3 If only the bubble corresponding to (a) T aATSS  (b) PIET SISIITRIISS  (c) Fobx

the correct option is darkened
» Zero Marks : 0 If none of the bubble is darkened

> Negative Marks : 0 In all other cases

SrgsitaeTgs (d) et s
SR Ry T gared § B ol A goa) faeww a1 e

& 3@ Es d 9N (20) W B H A A | wE e g
< TR T F AR e (1), (2), (3) @M @) ¥ 37 AR (1) (3) ¥R (b) 2) (b) 3R (c)

Rl # 7 DIt T Rwes w8 & | (3) (b) 3R () (4) (2) ¥R (d)
% TG U |, 98 fIwed & IgeU gorgal Bl . IR TH. 68. Most of the jewellery is made up of :

F BT BN | (1) 22 carats gold (2) 18 carats gold (3) 20 carats gold (4)
. . 24 carats gold
> eﬂmﬂlﬁa—«_n: SUERR SR s o 8 8 ?

> vl oiw: 3 I Rw wd fRwew & g B (1) 22 Be | (2) 18 B &

> IS 0 AT BIg W ey € g T 7 (i (3) 20 I%e | (4) 24 $YC AT

U AART ) |

> U G 0 I w uRRufE # |
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Graphite is used :

(1) as a lubricant (2) in pencil lead
(3) purification of water (4) (1) & (2) both
UBISS BT IRAN fbar war & ?

(1) ¥gd & ©9 | (2) =it o |
@)U B YgHwo F (4) (1) T (2) I

Which of the following properties does not match to the
elements of halogen family ?

(1) They have seven electrons in their valence shells.

(2) They are diatomic in their molecular form.

(3) They are highly reactive chemically .

(4) They are metallic in nature

71 & @ B9 1 g IROR & dcdl B FEE § —
(1) S5 FHISNDY H 7 e~ B |

(2) 591 oI ©U ¥ fFuRHe 8 B

(3) 9 IS Y W 957 ST fharde 2 |

(4) T urfeads Ul & & ¥

In the reaction PbO + C — Pb + CO

(1) PbO is oxidized.

(2) C acts as oxidsing agent.

(3) C acts as areducing agent.

(4) This reaction does not represent redox reaction.
PbO +C - Pb + CO

Qq T affrar |

(1) PbO 3ifwRfigd & 2 |

(2) C U% 3ATRNBGRD B TRE BRI Bl B |
(3) C U TS TRE P B Bl B |
(4) 7% afwfrar Rt afdfrar =8 %1

Which of the following sentences is not a characteristic
of acid ?

(1) Sour in taste

(2) When they react with base, salt is formed

(3) They have replacable hydrogen

(4) None of these

o et § W R el Y gy T8 R 2

(1) eI |

(2) @R & W1 f3pa1 BIP ofaor 994 B |

(3) faxen= 9y ErsgIoH v B

(4) 3 9§ B TE

Which of the following metals is a component of stainless
steel ?

77 & | BT Oy SR $¥T BT Ted B ?

(1) Mn (2) Cr (3) Hg (4) Sn

When ethyl alcohol is heated with conc. H2SO4 the product
formed is: )

g SUTSH Yebledl &I WG WRIRD o B Wi T
far Sirar ® @ S e & —

(1) CaHs (2) C2H4 (3) CsHs  (4) C2H2

Choose the correct order of atomic radii of Fluorine and
Neon (in pm) out of the options given below :

o T W Rged § 9 waAk= g Feita @) waftas
551 (pm %) & 98 HW B g —

(1) 72, 160 (2) 160, 160

(3)72, 72 (4) 160, 72

The gas produced from thermal decomposition of
(NH4)2Cr207 is :

(1) oxygen (2) nitric oxide

(3) ammonia (4) nitrogen

(NH4)2Cr207 & &Y faeed 9 Seo i & —

(1) SifaireT (2) TEfed ifeass

(3) srfan (4) TggIoH

77.

78.

79.

80.

A solution reacts with crushed egg-shells to give a gas
that turns lime water milky. The solution contains -

TP o avs o e I b o~ T W sae
T R W g B U B g o i ¥ s faer
# SuRerd & § —

(1) NaCl  (2) HCI (3) LiCl (4) KClI

Which of the following will give displacement reaction ?

(1) NaCl solution and copper metal

(2) MgCl2 solution and silver metal

(3) FeSOq4 solution and silver metal

(4) AgNOs solution and copper metal
T O B oy afdfhar & —

(1) T9% B1 8 AR dfar

(2) AR &7 e &R A

(3) B Fehe BT et 3R Al

(4) RieR Ar3ge &R dfar

Charring of sugar in concentrated sulphuric acid is due to
(1) Oxidation of sugar (2) Reduction of sugar

(3) Hydrolysis of sugar (4) Dehydration of sugar

A5 FEHIRE H AN BT TADR BTl T W BT BRI § —
(1) A BT ARABROT (2) A BT TEE

(3) A BT STewUEreT (4) DT BT fAotelidor

Which of the following represents the electronic
configuration of d-block elements ?

A A 9 BN d-selie @ gelaeiie fa=T &1 gamar & —
(1) (n=1)s2 nd-10 (2) (n=1)d'-10ns02

(3) (n—1)d™=10 ns2p* (4) (n—1)p*ns?

PART - IV (MENTAL ABILITY) ¥ - IV (AT<R¥& @)

K3
o

X3

¢

.
IR X4

/)
4

o,
X4

g

/)
4

SECTION : (Maximum Marks :60)
s ; (3@ &% :60)
This section contains TWENTY (20) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
»  Full Marks . 3 If only the bubble corresponding to
the correct option is darkened

» ZeroMarks : 0 If none of the bubble is darkened
» Negative Marks : 0 In all other cases

39 @S A 99 (20) WA B |

Td U H AR fdeed (1), (2), (3) TAT (4) &1 57 =R

e § ¥ dad T& vy a8 2|

TS URT |, 98 AP & IgwU gagel Bl 31 AR TH.

H BT B |

AHT AT

> ool oie 3 afk Rrw wd fawen & g1 mm #)

> e 0 AR P A Reew T8 g @
(@i o eaRa B) |

> ®U 3 0 I wl uRRerfat #

Direction (81 to 83) Find the mising term.
forder (Q.81%83) : i Ug ST DR |

81.

82.

7,19, 55, 163, _

(1) 387 (2) 329
(3) 527 (@) 487
KTE, SBM, AJU, IRC, ?

(1) KzQ (2) ZRL
(3) QzK @) LYJ
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T

Directions : (87) Read the following information and answer the

question based on it :
In a school, there were five teachers. A and B were

83.
WW teaching Hindi and English C and B were teaching English
Qp and Geography. D and A were teaching Mathematics and
(1) 125 (2) 216 Hindi. E and B were teaching History and French.
() 121 (4) 225 foder : (87) o=t gl @1 UgHR S W AR YT BT IR
84. If SPECIAL is coded as KZHBDOR then ORDINARY AT

would be ?
¥ SPECIAL &1 KZHBDOR @€ fhar ©im & @

ORDINARY 81Tl —

T fJemem # df= orearus 9| A @ B, fRRdr &R smich
U1 IF ¥, CTAT B, 3o 3R el UGT T A | D TA A,

(1) ZQBMHCSX (2) XQZOHCQN T &R R uel W 9| E 9 B, 3fwd R BRI
(3) XQZMHCQN (4) ZQBHOBQZ
TSl 3T A |
Directions : (85) Five persons are sitting in a row. One of the 87. Who among the teachers was teaching maximum number
two persons at the extreme ends is intelligent and other of subjects ?
one is fair. A fat pers.on is sitting to the right of a weak Tt § P waS e RYg T < o 2
person. A tall person is to the left of the fair person and
the weak person is sitting between the intelligent and the MA (2)B 3)cC (4)D
fat person.
foder : (85) wiw s Us dfth ¥ 59 UBR 98 g 5 ufe @ 88. If the day before yesterday was Saturday, what day will
g RRY ® 3 <) afiadl 3 @ e Tgﬂ%’ﬂﬁ I T fall on the day after tomorrow ?
. 1) Frida 2) Thursda
RT 8| TP Aiel aafdd, dAoik oafdd @ < R Jo1 7 i Y 8 Y
) (3) Wednesday (4) Tuesday
T A, M AR S A § e s s e A B A TR BT A wMEAR o, T9 o AT B
A R A fed & #eg 7 o7 gan
K U] % 915 BT faT B g ?
85. Tall person is at which place counting from right ?
(1) First  (2) Second (3) Third  (4) Fourth (1) Zpar (2) TOIR
T Ao Y W BT R R ¥ (3) AR (4) HTETAR
Musd (2QgE BT (4 DA 89. Which of the following dices is identical to the unfolded

Directions (86)

In the question below are given two
statements followed by two conclusions numbered I and
II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known
facts. Read the conclusion and then decide which of the
given conclusions logically follows from the two given
statements, disregarding commonly known facts.

o=t (8e) :

86.

W e T g A ) BYUA SR S99 91€ |1 ey ey
T B | P B IIER DI rmd T

Statements : Some doctors are fools. Some fools are rich.
Conclusions : 1. Some doctors are rich.
II. Some rich are doctors.
(1) if only conclusion I follows
(2) if only conclusion II follows
(3) if neither conclusion I nor 1II follows
(4) if both conclusions I and II follow.

FU : TP SR E £ | BB W IR |

figure as shown here ?

f=fafed & @ I o9 3 @ien R R 1§ iy

S FEF B ?

[R

CC/)—l'U‘

Q]

Direction (90 to 92) Find the missing term.
forder (Q.90 W 92) : w1 UT ST BN |

" : o 90. 5,8, 13,22, 37, __
frspy : 1 7B Sfdex oMk B 1L B IR SR B | (1) 60 2) 64
(1) daa I sy wE B (3) 68 (4) 66
@ @aa 11 frapd @l 7 91. B-4, D-16, F-36, 2

(3) @IS i fwpy wd TE B
(4) S 1 ey a2

(1) G-49
(3) J-100

(2) H-64
(4) H-81
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02 SAMPLE TEST PAPER

(1)
05
| (34
Y%
(172 (2) 70

(3) 68 (4) 66

93. If watch is called room, room is called bag, bag is called

rain, rain is called air and air is called water, Which is

96.

s : 1 B TRATS ATl E |
I & A%l AIRATS & |

(1) Baa 1y @8 B

(2) Baa 11 frad @8 21

@) PE AN s 98 TE 7|

(@) qF1 e w8 7|

In question no. 87 Which of the following pairs was

teaching both Geography and Hindi ?

used to carry the books ? (1)Aand B (2)Band C
(1) room (2) bag (3)Cand A (4) None of these
(3) rain (4) air yeT "E 87 ¥ A § ¥ el g™, e qer =

IR T B FAW FE WY, FR B A FE G, A
Bl g9 B8 WY, g9 BT §A1 AR AT BT Y B8 WY,

T TRTR® o ?

(1) ATAaTB (2yBTaTC
@ e Sua fhae o o @ fory fsan man ;
8l (3) C A @) T ¥ P T
B 9)
() (2) orem 97. If 15t October is Sunday then 1t November of the same
(3) aut (4) g1 year will be :
(1) Monday (2) Tuesday
94. In question no. 85 Person to the left of weak person (3) Wednesday (4) Thursday
: : feits )
possesses which of the following characteristics 7 af 4 TR P FER B a5 9§ § 1 T9wR B o
(1) Intelligent (2) Fat
. arm—
(3) Fair (4) Tall

Y T 85 H HHGIR wfdd @ 9 R = A 9
B @fs o7 ganm B

(1) gigwm
(3) TR

(2) et

(4) <t

Directions (95)

statements followed by two conclusions numbered I and

In the question below are given two

II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known
facts. Read the conclusion and then decide which of the
given conclusions logically follows from the two given

statements, disregarding commonly known facts.

et (95) :
W e T uwE A 1 B SR S99 d1€ a1 ey ol
B 2| B B AR I Frepd a €|

95. Statements : All fish are tortoise. No tortoise is a crocodile.

Conclusions : I. No crocodile is a fish.

98.

99.

100.

(1) AHAR (2) AR

(3) gHar (4) TOIR
Which alphabet is opposite D ?
D& fIudid i 3R B 2

(ii)
ME 2c
(3 F @) A

If E =5 & SAFE = 31, then PINK = ?
Ifg E = 53R SAFE = 31, T PINK = ?
(1) 51 (2) 40
(3) 50 (4) 52

In question no. 85 Which of the following persons is

sitting at the centre ?

II. No fish is a crocodile (1) Intelligent (2) Fat
' ' 3) Fair 4) Weak
(1) if only conclusion I follows ) i 5 5 _; E)ﬁ - N
T 85 Sl 1 afdd &g 3 T
(2) if only conclusion II follows Ll §
(3) if neither conclusion I nor 1I follows (1) g&717 (2) A1
(4) if both conclusions I and II follow. (3) TRT @) BHHAR

o - 9l Aofordl $BU T | BIs Y TR T & |
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ANSWER KEY TO SAMPLE TEST PAPER-2 65. To see the container half-filled from top, water should be
filled up to height x so that bottom of the container
1. 2 2 2 3. (2 4. (@) 5. (3) should appear to be raised upto height (21-x).
6. 3) 7. (4) 8. 3) 9. 4) 10. (3) As shown in figure apparent depth #'= (21 —x)
1. (1) 12. (1) 13. (2) 14. (4) 15. (3) Real depth / = x
16. (2) 17. (4 18. (3) 19. (1) 20. (4)
21. (2) 22. (4 23. (4 24 (1) 25 (1) e ‘“I
26. (1) 27. (3) 28. (3) 29. (1) 30. (2 @ _X)I I
3. (1) 32 (1) 33 (3) 34. (2) 35 4 21em x
36. (2) 37. (2) 38 (4 39. (1) 40. (1)
41. (3) 42. (4) 43. (3) 44. (4) 45 (2 l
46. (3) 47. (2) 48. (1) 49. (2) 50. 4 Bottom Raised bottom
51. (2) 52. (2) 563. (2) 54. (4) 55 (3) . ho 4 x cm
56. (3) 57. (3) 58. (2) 59. (1) 60. (1) A i d i £
61. (1) 62. (2) 63. (2) 64. (2) 65 (3) R
66. (3) 67. (2) 68. (1) 69. (4 70. (4) 56. R, =nR and R, =R/n = Zmax _,2
7. (3) 72. (4 73. (2) T74. (2) 75. (1) Riyin
76. (2) 77. (2) 78. (4) T79. (4) 80. (2 57 _ sing g _sinr’ 1
81. (4) 82 (3) 83 (2) 84 (3) 85 (2 pHR sin7’ rRHD sini sinC
86. (3) 87. (2) 88 (3) 89. (4 90. (1) L L L
91. (2) 92. (2) 93. (3) 9. (1) 95 4 SesinC = nt | S Sl (as Zi=2r)
96. (4) 97. (3) 98. (2) 99. (3) 100. (2) sin(90 —r) cosr cosi
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-2 =sinC=tani=>C=sin"" (tan i)
. _— 8 4 58.
41. Thecurrent in the circuit — 2 _ - 2v
541 3 —®—
4 4 20
Now 1, -7y =—x1 = Vg ===V x v
3 3 20
42, BH=\/§BV,aIso tanngT’:L39:30° 20
By 3 W
43, -390 _,_- (2) Resistance across XY _2 o
45 3
44. In stretching of wire p o 1 Total resistance =2 +£ = B Q
r 303
Current through ammeter = L = ﬁ =4
6m/sec 6m/sec 8/3 8
46. R e i e 59.
(3) Relative velocity of image w.r.f. object N
=6—-(-6)=12m/sec P
47. Netcurrent j=; +; _m)@)  )G) —1_ ®
t t —t
= —_e, T N (1)  Normal
Ne' shift . _[;_L1
R Ax = [1 p Jr
i and shift takes place in direction of ray.
S D SN 5 I 81. Series: (7 x3)—2, (19 x 3) = 2, (55 x 3) — 2, (163 x 3) = 2
t t — 487 (4).
=29x108 x1.6x1072 +1.2x108 x1.6x107"° No. is multiplied by 3 and then subtract 2.
= i=0.66 4 82.  First letter of each group differ by 8 letters. Second letter of each
group differ by 8 letters. Third letter of each group differ by 8
49. 1 _ S . whereu=f+x - i = _i letters. Therefore, the next choice would be QZK.
0 f-u o x 84. The letters in the word are reversed and each letter has
preceding letter as code.
52. Given u=(f+x;)and v=(f+x,) ORDINARY - YRANIDRO
N
Thefocallengthf:ﬂzw XQZMHCQN
u+v  (f+x)+(+x,)
90. Difference between the term-
On solving, we get f2 =x,x, or f=./xx, 5 8 13 22 37 —

Diff. 3 5 9 15 23
2 4 6 8

91. All the letters of each term are moved three steps forward
to obtain the corresponding letters of the next term

53. i=qv=16x10" x6.6x10" =10.56x107* 4 =1mA
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SAMPLE TEST PAPER

(For Class-X Appearing / Passed Students)
Course: Moving from Class-XII to Class-XllI

TARGET AIIMS/NEET

) ) Marks to be awarded
S.No. Subject Nature of Questions
No. of Questions Correct | Wrong | Total
1to 40 PART-I (Biology) Single Choice Questions (SCQ) (®ddl TH fawT ) 40 3 0 120
41t070 PART-Il (Physics) | Single Choice Questions (SCQ) (®ddl TH fa®T 3 ) 30 3 0 90
71t0100 | PART-IIl (Chemistry) | Single Choice Questions (SCQ) (®ddl TH fawT 3 ) 30 3 0 90

PART - | (BIOLOGY) 9T - | (Sfra fasm)

X3

A

b

K3

%

b

K3
¢

%

o,
°n

o,
°n

o,
X4

/)
*

SECTION : (Maximum Marks :120)
s : (frma IiF 120)
This section contains FOURTY (40) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct.
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
»  Full Marks : 3 If only the bubble corresponding to
the correct option is darkened
» Zero Marks : 0 If none of the bubble is darkened
»  Negative Marks : 0 In all other cases

36 ©s # AN (40) U E|

TE W § AR e (1), (2), (3) M (@) §1 39 AR

famedl # 9 Bad U@ ey w8 21

TS U W, 8 ded & agwd gagal F ol AR, T4

H BTl PN |

BT I

> T sie - 3 AR R @ fwer & g w7

> T dF 0 AR g N e T8 T W 2
(@i W SrgaRa B) 1

> U I 0 g w uRRefE

Wavelength of PAR is
PAR @ dwred ¥ |

(1) 200 — 400 nm
(3) 700 — 900 nm

(2) 400 — 700 nm
(4) 100 — 200 nm

The breakdown of oxyhaemoglobin into oxygen and
haemoglobin in the tissue will be increased if

(1) Blood pH increases

(2) COz2 in blood increases

(3) Decreasing quantity of free fatty acids in blood

(4) Blood pH decreases

SABT H SMMRA—EFFGT BT SIS T ErHTenfaT
# fagved g "ol 2 I}

(1) SR &1 pH 98 Y

(2) Sf8R BT CO, 98 WY

(3) BffR # wWdsl g9l 3l B AT Hed W

(4) SfR BT pH TS WT |

What is wrong about facilitated diffusion.

(1) It is highly selective

(2) It shows uphill transport

(3) It requires carrier protein

(4) It proceeds according to concentration gradient with
out expenditure of energy

garg foeRe & aR § T/ T © -

(1) B e =T e Bl §

(2) T8 ufeer uRagw &1 geiiar &

(3) 39 ford a1ed WA B ArTEHar Bl ®

(4) I8 SUYT Soft B @Y Ry 1 A=l gaorn &
AR BT B

Waste products of protein metabolism which are excreted
in urine by man

(1) Uracil, ammonia, urea

(2) Urea, uric acid, sodium chloride

(3) Urea, melanin, guanin

(4) Urea, uric acid, creatinine

A9 & T H A U B Hokawd 91 a9 gar B
B

(1) T, s, g

() a1, gR® a1, AfsTA FARTES
(3) gRa1, gRe 3w, Tt

@) IR, IRF o, frufefm

A man is admitted to a hospital. He is suffering from an
abnormally low body temperature, loss of appetite, and
exterme thirst.His brain scan would probably show a tumor in
(1) Pons (2) Cerebellum

(3) Hypothalamus (4) Medulla oblonggata

Te A saTe d Wit B 98 $W IRR AT, g B FA
AR 957 At W™ ¥ DT ¥ 99 ARTH 1 @A
| wm TR R wea §

(1) 9= (2) srgaReTS

(3) EudeHd (4) Fgen 3MedATer

Which of the following does not require pollinator

(1) Ornithophily (2) Anemophily
(3) Cleistogamy (4) Hydrophily

e A e wrre sawae T8 8|
(1) sifffenfeh (2) gfrefen
(3) TR (4) TrgRIfbel
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03 SAMPLE TEST PAPER

If the blood group of son of a couple is 'O' and its mother's
blood group is 'B'. Which of the following blood group will
not present in its father.

I TF TN B I BT GER G 'O' ¥ T FHS! A
T W E B' B 9§ § ww SR W zee fran A
SuRerd =& 2|

(1) O (2 A 3)B (4) AB

Human is considered as Omnivorous. Which of the
following animal is also involved in this category

(1) Frog (2) Hawk (3) Crow  (4) Fish

A9 BT FAER AA oran B, R A @ e o= o
39 oo A wfde @ -
() #ed (2 ar

Ex situ conservation is carried out in:

(1) Sanctuary (2) National park

(3) biosphere reserve  (4) Zoo

TRAM HRETT (Ex situ conservation) fbad fham Sran 7

(1) JIHIRTY (2) T A
(3)v1a Avsd Red  (4) Sqgenerd

Light reaction in stroma lamellae of the chlorplast results
in the formation of

(1) NADPH:2 (2) ATP + NADPH:

(3) ATP (4) O2

sRaeTad B I uefrdiet # BN aren wabre afifhan
(1) NADPH:2 (2) ATP + NADPH:

(3) ATP (4) O2

Diaphram during inspiration

(1) Contracts (2) Expands

(3) Remains unchanged (4) None of them

feaa @) TR H§ S

(1) Rrcger & (2) B &

(3)eRafiia @ & (4) T 9 B T8

Osmotic pressure of a solution is

(1) More than that of pure solvent

(2) Less than that of pure solvent

(3) Variable depending upon concentration
(4) Equal to that of pure solvent

TS e BT WRIERY €19 § |

(1) 7= foans @ ofte

(2) 7= fooms | a9

(3) uRad e, drsar R R
4) g€ faems & R

Maximum reabosorption of sodium and water occurs in
(1) Proximal convoluted tubule

(2) Distal convoluted tubule

(3) Loop of Henle

(4) All of them

QIfETw A Siel BT qaidrd AN BEl Bl &
(1) TR ST Al

(2) ST Fosfoaa Afa®T

(3) 7T BT U

(4) T

(3) PRI (4) 7O

Body co-ordination is exhibited by
(1) Blood vascular system

(2) Nervous system

(3) Endocrine system

(4) Nervous and endocrine system

15.

16.

17.

18.

19.

20.

IR B FAGT T 8

(1) 3R aRF=RwT a1

(2) af~T®1 T

(3) T/ T

(4) afT®1 TT Tl a=

Carrying of male gametes by pollen-tube is called
(1) Porogamy (2) Zoodiogamy

(3) Siphonogamy (4) Chalazogamy
WA GRT R DT BT of W HEA 2 |
(1) TR (2) SIfear

(3) ATSHIATIRE (4) DoroTE!

It Anitrrhinum majus, red (RR) flowered plant is crossed with
white (rr) flowered plants. On selfing of F1 generation, F2
generation obtained. How many phenotypes produced & what
was the % production of red flowered plants respectively in
F2 generation.

(1)2,50% (2) 3, 25% (3) 3, 50% (4) 25%

TR A9 § o (RR) JURIRY 9167 &1 390 R
(rr) UIEY B 1T HIA HIRT T B Fr A B WA |
Fo O o &t 81 F2 9 # o fbaw @eror gou
IUF gY AT AT U gredl T fham % Seared
BT |

(1)2,50% (2)3,25% (3)3,50% (4)25%

The breakdown of detritus in to smaller particles by
detrivores. Which of the following is not detrivore?

(1) Earthworm (2) Bacteria

(3) Fungi (4) Sparrow o

JREER) ERT WS T AT GesT o F &l &
F P qRIE TE 77

(1) dgam

(3) BaH

(2) Sraroy
(4) TR

Which of the following is most dangerous to wild life?
(1) Over exploitation

(2) Man made forest

(3) Habitat destruction

(4) Introduction of foreign species

= A P9 79 oidl & g ae afle wae @
(1) siferaieor (2) wra fAf¥fa a=

(3) A faees (4) T SRTET BT qRIATIT
Leaves appear green because they

(1) Reflect green light

(2) Absorb green light

(3) Both reflect and absorb green light

(4) None of the above

uferat &9 R << E w®ifs 9

(1) | YBRT B WA BIA T |

(2) ® BT Bl AT B B

(B) & THT B WEfid AR raenfid I Bl B
(@) T | B1g T

Which structures are end part of the branch of trachea and
take part in the exchange of gases

(1) Tracheoles (2) Respiratory branchioles

(3) Terminal branchiole (4) Alveoli

1 § 9§ B I wERE & fre @ et A 7

qen I~y fafa &1 @i @
(1) zfara (2) arg HIDT
(3) TasAf~pTY (4) a1y BIfGHT
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Diffusion is very important to plants since it is the only
means for .................

(1) Water translocation in root

(2) Gaseous exchange within plants

(3) Mineral translocation in root

(4) transport from phloem to sink

faerer wigw @ forg Aot ufhar ¥ w®ife ag P
e A g ¥

(1) I A WA uRasT @

(2) " # TG AEH-TEE B

(3) 9 A @ e uRag &

(4) TAH ¥ G | T B URTET B

Which part of nephron is not situated in the cortical region

of the kidney.

(1) Malpighian corpuscle (2) PCT

(3) DCT (4) Loop of Henle

BT BT B U g5 B Jeqeld & Ry =& A 3
(1) Fheh 3@ (2) PCT

(3) DCT (4) T BT

If a person has lost his memory in an accident, the
following part of the brain have got injured

(1) Diencephalon (2) Medulla oblongata

(3) Cerebellum (4) Cerebrum

& @it @ e goe 4 WY @ & w7 A =
# W UP A geleATIRG gAT B, 98 ¥ —

(1) SETARTB A (2) Srggen SifedAiirer

(3) e (4) A

How does Amoeba reproduce?

(1) Binary fission (2) Budding

(3) Fragmentation (4) Both (1) and (3)

IHe1, T 59 GBR Fxar B ?

(1) fefaHrsH gt (2) gBe &R
(3) fravsa g (4) (1) 31 (3) EFL

Analogous organs are

(1) Simlilar in function

(2) Similar in structure

(3) Non functional

(4) Similar both in structure and function
FART T B B

(1) &1 & FHH
(3) BrIfAEA

Which of the following shows most
characteristics of an ecosystem ?

(1) Pyramid of energy  (2) Pyramid of number
(3) Pyramid of biomass (4) All of the above

(2) W& H T
(4) BT Td =T S A FAA

functional

= A & o v uRRAfie o= @1 wE AT @
57
(1) Suf &1 fRifAe (2) G &1 fiRifas

(3) ST MR &1 RIS (4) SWRIaa T+

Soil erosion can be prevented by -
(1) Over grazing

(2) Removal of vagetation

(3) Afforestation (Plantation)

(4) Increasing bird population

T RET BT AT FHaA & —
(1) rferemRer g

(2) T BT BB

(3) GEARTIYT gRIT

(4) SR B AT TFTHR

28.

29.

30.

31.

32.

33.

34.

35.

Bt ok

*
* *
*  Solal
Physiological calorific value of protein, fat, carbohydrate is
respectively
U a9 QAT FHEEISRE B BID HAR qod HAM
B
(1) 4 k.cal ; 7 k.cal ; 4 k.cal
(2) 5.65 k.cal ; 7 k.cal ; 4 k.cal
(3) 4 k.cal ; 9 k.cal ; 4 k.cal
(4) 4 k.cal ; 5.65 k.cal ; 4 k.cal
How many molecules of oxygen (Oz) are used during the
glycolysis of one glucose molecule?
(10 2)1 (3) 36 (4)8
TH TBHIS Y B TASHINE B AR fFied B
o arp S Y o € —
(10 2)1 (3) 36 (4)8
Which of the following has the thickest walls ?
(1) Right ventricle (2) Left ventricle
(3) Right auricle (4) Left auricle
= 7 A feae AR waifte A ad g ?
(1) s e (2) I frer
(3) T anfors (4) I arfers

Main excretory product in the urine of frog

(1) Urea (2) Ammonia
(3) Allantoin (4) Uric acid
qod B T F I Il el B §
(1) e (2) st

(3) Vertae %) IR® et

Which one of the following growth regulators is known as
stress hormone?

(1) Abscissic acid (2) Ethylene

(3) GAs (4) Indole acetic acid

f=fafea # & si=-—w1 gfg o= ufee gmia @ W
J ST S ®?

(1) TRy <rFet (2) Tiifem

(3) GAs (4) 391 THfeD o

Cells of Leydig are found in

(1) Connective tissue of testes
(2) Kidneys

(3) Seminiferous tubules

(4) Islets of Langerhans

AT BT et e ol 2
(1) guoT BT AT Had

() 3=

(3) THfwYs AAfera

(4) REE E1U B

Which of the following exhibit analogy

(1) Paddles of whale and hands of man

(2) Wings of pigeon and wings of butterfly

(3) Wings of birds and wings of butterfly

(4) None of them ]

1 A @9 wEedar yeRid axa #

(1) e S TG T AT B FA

() PER & UG I TANES B UF

(3) e @ 99 g fadell & o

@) T | IS T8

Which of following cannot place at specific trophic level in
a food chain?

(1) Quaternary consumers (2) Saprophytes

(3) Parasites ) (4) (2) & (3) both

= A 9 e Tr" gae J A il iy 'R ow
T8 W o1 aaa 2?
(1) =qefe SuHTaRT
(3) T=SIar

(2) Feirasidy
(4) (2) T (3) T
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o,
X4

36. Which method is most effective in controlling floods THH IS

D>

(1) Digging deep canals
(2) Reforestation

(3) Deforestation

(4) Constructing dams

916 &1 R o § e oo g9l e iy & —
(1) TEY DA @I

(2) g TIHRYT (Reforestation)

(3) JATHRYT (deforestation)

(4) 9} &1 AT BRAr

If we take food rich in lime juice then

(1) Action of ptyalin on starch is enhanced

(2) Action of plyalin on starch is reduced

(3) Action of plyalin on starch is unafected

(4) Action of plyalin on starch is stopped.
Iy &7 Wio | g T BT SUENT HR A1 FJ AW P

(1) rd W <Efed @ fhar 9 SigE |

(2) rd R eEfed @ fhar ge W |

(3) T W esfem @ fhar af e

(4) rd W <Efed @ fhar e o

What is the ratio of CO2 liberation between anaerobic and
aerobic respiration

JarEdg qen I TaEd @ dra COo, fagfam @ ergu
TR

13:1 2)2: 4 3)2:2 4)1:3

Enucleated blood cell is/are—

(1) RBC (2) WBC

(3) Platelets (4) (1) & (3) both
fa=figa(Enucleated) Th BIRI®T 8/8—
(1) RBC (2)WBC

(3) wicicH (4) (1) 7T (3) T
In diuresis

(1) Quantity of urine decreases
(2) Quantity of urine decreases
(3) Urine becomes concentrated
(4) Urine contains extra sugar

SIEgORM(rerdn) ¥ 1 8ar §
(1) T B 7= 9 o B

(2) T B A B B AR 7

(3) I @ W=l 98 SR ©

(4) T3 | ADBXT B A 9 TN B

PART - Il (PHYSICS) 9171 - Il (ifoe fasm)

> T oie 3 afk Rrw wd fawen & g mm #)

> U dF 0 AR BE W e 98 W om R
(@rrfq W eaRa B) 1

> = 3d - 0 oy Wit uRRefat )

Internal forces can change :

(1) the linear momentum but not the kinetic energy of the
system.

(2) the kinetic energy but not the linear momentum of the
system.

(3) linear momentum as well as kinetic energy of the
system.

(4) neither the linear momentum nor the kinetic energy of
the system.

Iqr=aRe ge1 IRaRid o Fhar & —

(1) Frera &1 g |a fr=g Ao Haot TE&

(2) Frara & wfoe Sl fag WRaw Faw T8

(3) Fra &1 M FawT 7 WA & TS Hort W

@) o &1 9 @ e G99, T & o S

A force _|-; =(5f+4]) N acts on a body and produces a
displacement é = (6? _5] + 3R) m. The work done will b
@ 9 F=(5i+4)N 5 wg # faver
S=(6i -5] +3k)m S e 8, @ oA B §
(1)10J (2)20J (3)30J (4)40J

In a vertical circle of radius r, at what point in its path a
particle has tension equal to zero-

(1) Highest point (2) Lowest point (3) Any point

(4) At a point horizontally from the centre of circle of radius r.
ri & Sdgd & v A 59 g | e @ B R
BT —

(1) ST g = (2) fFrerm fog W

@) fFd @ g =

@rfsm e 9 P s 9 AR v g W

An object of height 7.5 cm is placed in front of a convex
mirror of radius of curvature 25 cm at a distance of 40 cm.
The height of the image should be:

(1)2.3cem  (2) 3.40 cm (3)1cm (4) 0.8 cm
7.5 99 SATS BT U far So <dur i) g Broar

25 ¥t B @ A 40 ¥ Y gff W vy war g @
fafd & Sarg B+ @fiy —

SECTION : (Maximum Marks : 90 )
TS : (Iftrwa o : 90) 45.

This section contains THIRTY (30) questions.
Each question has FOUR options (1), (2), (3) and (4).
ONLY ONE of these four option is correct.
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :

(1) 2.3 949 (2) 3.40 ¥ (3) 199 (4)0.8 3

A copper wire ring is suspended vertically, on bringing a
bar magnet towards ring, the ring will :

(1) move towards magnet

(2) move away from magnet

(3) remains stationary

(4) rotate with respect to suspension fibre

X3

¢

X3

-

X3

*

K3

o

»  Full Marks : If only the bubble corresponding to the

correct option is darkened b —
»  Zero Marks : 0 If none of the bubble is darkened N__S]
> Negative Marks : In all other cases

rin
Qméﬁézﬁaﬂaﬁaagﬂ(ﬁn)a?wiwméﬂééw
TS TG B SHD HT A W IoF
(1) FFIH B TR TR B
@) F=F ¥ R gl
(3) Rerr <&l
(4) difeta fog & amer gAwd

g

59 s 4 9 (30) wH B

TG T # AR fawe (1), (2), (3) A1 (4) Bl 37 IR
el # ¥ daa @ by & ¥

TS U W, 8 ded & agwd gagal F ol AR, T4
H Pre BN |

)
*

.

R/
*

g

/)
*
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46. The radius of curvature of the path of the charged particle (2) lonization potential of hydrogen, second spectral line of
in a uniform magnetic field is directly proportional to Balmer series and third spectral line of Paschen series
(1) The charge on the particle (3) Series limit of Lyman series, third spectral line of
(2) The momentum of the particle Balmer series and second spectral line of Paschen series
(3) The energy of the particle (4) Series limit of Lyman series, second spectral line of
(4) The intensity of the field ] Balmer series and third spectral line of Paschen series
5 Ml &9 @) THER RO & 7 R U B n=o —ggg e\\;
=6 -036e
amar Brean wErgah 2 nes —0546V
n=4 -0.85eV
(1)@111'\!9711%?16% =3 iB iC ]D _151ev
(2) 1 & FIT B e 3396V
(3) BT B Holl B . E
(4) &= BT Nt B
n=1 —135eV
47. What is the de-Broglie wavelength of the &~ particle 313@\_:!’*[ URATY] DT $Hofl WX o # fearn w7,
accelerated through a potential difference V HG HHHI A, B, C, DTAUTE & | GHAYT A, BTAT C HA:
Ay Am@w @ v fevEaR @ @Rd foa 9@ a9 TR B §
AR TR T AT E (1) TTEA A0t B vor Wag Y, AR Al @ dred)
™) 0.287 , @ 12.27 WFEH Y@ H JA URES A0 BV A WagH @] B
N7 Jr () TP @ A g @1, amR Aol @ gEd Wegw
5 0101 4 4 0202 4 X BT A UrEE A @ IR ega Y o
& @ (3) e Aot 2 A e B, TR Aeh B e e
Y@ B qor ureEd Sft @ TR Wagd Y& @
48. The energy of a photon is E = hv and the momentum of
S (@) crger soft <t e e @, ae seh @ qEd wega
photon p = I then the velocity of photon will be X @7 e e S 3 W ear By
~ _ : x : h 51. In a hydrogen atom, which of the following electronic
w1 B wwil E = hved v a1 s P= x% L transitions would involve the maximum energy change
~ (1) Fromn=2ton=1 (2) Fromn=3ton=1
WIS T B (3) Fromn=4ton=2 (4)Fromn=3ton=2_ ]
(1) Elp , (2) Ep BISSIOH WA § golgH & e wmevi § 9 e
(3) E (4) 3 x 108 m/s St aRad= ffead 8
p (1) n=2 ¥ n=1 T (2) n=3¥ n=1 d®
49. Two circular coils A and B are facing each other as shown (3) n=4 ¥ n=2 T (4) n=3 9 n=2 T
in figure. The current i through A can be altered 52. In which of the following circuit is the current maximum
(1) There will be repulsion between A and B if i is just after the switch S is closed
increased (1) () (2) (ii)
(2) There will be attraction between A and B if i is 3) (iii) 4) Both (i) and (iii)
increased
(3) There will be neither attraction nor repulsion when i is
changed
(4) Attraction or repulsion between A and B depends on
the direction of current. If does not depend whether the
current is increased or decreased
A —~B (ii) (iii)
ﬁﬁiﬁé%qﬁwﬁ Rag s @1 7= 1 & @ I8
YRT AHTH 7
i (1) @) () @) .
(3) (iii) (4) (i) T4 (i) T
al qﬂiﬂﬂ?_i@’@iﬁ A 9B RET{ER U@ gk & W 53. A charge q is placed at the centre of the line joining two
T B AH YA )T i BT uRafia fear W1 Ao 7 equal charges Q. The system of the three charges will be
(1) IS | DT I T B, T ATB D AT URAHEOT B in equilibrium, if q is equal to
(2) 3% i B gETT W B, T9 ATB B I HU BN T AN MR Q WER §B T R ¥ & g9d1 FAam
(3) 99 i BT URIRiG frar Wan & 9 9 a1 By B A qrefl YW B D5 W q IAY @ TG g | A B
& wftrdor g e agad ¥ 8 I q 1 A @
@) AR B & &I MBIV AT UIBYU RT B fIwn W AR 0 0 0 0
IR T | T URT B 9@ I TS W PR T8 Bear § (1)—? (2)—1 (3)+T (4)+?
50. The energy levels of the hydrogen sspectrum is shown in

figure. There are some transitions A, B, C, D and E.
Transition A, B and C respectively represent

(1) First member of Lyman series, third spectral line of
Balmer series and the second spectral line of Paschen
series
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64. The meter-bridge wire AB shown in figure is 50 cm long. 69. A thick plane mirror shows a number of images of the
When AD = 30 cm, no deflection occurs in the ﬁlament of an electric bulb. Of these, the brightest image
| ter. Find R. Isthe-
GENENeMENETs T 1 o s 300 2 (1)First  (2) Second (3)Last  (4) Fourth
‘{‘EQ—@@WA_B*"O 8 T il ST AD= BUHHIE 5 T% Hiel THad SUv s figd 9 @ o= @ dgd 9
T Aeare # Big sy it w8 1 &1 RB1 A9 7 wife fewm € o Saw =awaien yfafes 8-
60 R Mmwem @ fedw @) afm  (4) T
© 60. In the set up shown in Fig the two slits, S1 and Sz are not
equidistant from the slit S. The central fringe at O is then
(1) Always bright
| (2) Always dark
(3) Either dark or bright depending on the position of S
(4) Neither dark nor bright.
Mm1Q 220 3)3Q 4)40Q '
o
65. A transformer is used to light a 140 watt, 24 volt lamp from s I ,,,,,,,,,,,,,,, o
240V AC mains. The current in the main cable is 0.7 amp. . I 5
The efficiency of the transformer is : i 2
140 watt, 24 volt & ¥ BT THIAT BT B THHTAY . i . )
Wy S ferg = et forr ¥ aRfq wgawen # <1 Rrat S1Ta S BR S @
aﬂmnvﬁﬁ‘g’qm_ovmc ﬁmmaﬁajvﬁ:ﬂwm T G W A 2 O W A B e
Bl T dadd (@R) § R 0.7 amp ¥ O SEGER B () a&a THEe B
EGLIR (2) WaT Brell BN
(1)48%  (2)63.8% (3)83.3% (4) 90% (3) FTe M TEBHIA B W F S B Refy w R
(4) T Bl AR T & TABTN
56. If 2 bulbs r.ated _2'5 W =110V and 100 W - 110 V are 61. Total internal reflection of a ray of light is possible when
connected in series to a 220 V supply then the (ic = critical angle, i = angle of incidence)
(1) 2.5 W bulb will fuse (1) Ray goes from denser medium to rarer medium and i < ic
(2) 100 W bulb will fuse (2) Ray goes from denser medium to rarer medium and i > ic
(3) both will fuse (3) Ray goes from rarer medium to denser medium and i > ic
(4) both will not fuse (4) Ray goes from rarer medium to denser medium and i < ic
I 2.5 W —110 V@2 100 W — 110 V & &1 gedi &l 220 ! &l ol T R
2T S (ic = Bif® BT, i = YT BT
V@ gt & @ sefsd § Sired ® o - () o Fe e fivet A § O R Wi<ie D |
(1) 2.5 W BT 99 WISl & SR | @) f=or Fem AT F faRet AR H ST B TG i > 0B |
(2) 100 W &1 T TS &1 SR | (3) fRo faRer Aregw @ FEF ARAE § O ¥ Ui > i 8|
(3) 31 W & W (4) for favet Wz & |E ARgE Y B T i<
) KLl e T A 62. In a hydrogen atom, an electron moves in a circular orbit
67. An uncharged sphere of metal_ is placed in betvyeen two of radius 5.2><10’11m and produces a magnetic
charged plates as shown. The lines of force look like
a1g BT T IR et < MR © e & 99 RE & AR induction of 12.56 T at its nucleus. The current produced
. by the motion of the electron will be (Given
T I U 9 X@eh 1 I {5 aeR @t anft -
ZE AL ST HEC [ H0:4TCX1O Wb/A-m)
[ (1) 6.53x10 2 ampere  (2) 13.25x 10" ampere
[ . (3) 9.6 x10% ampere (4) 1.04x1073 ampere
——————— e FTESIoF WA ¥ T semet 5.2x107'm fiea
A 1
—— T TP G BET H A § AR AR W 12.56 T gHESE
by \\;‘/ IR SOOI BRAT B SolERM @1 A B BROT Ieq=
h,{ farega et @1 W B (R By = 4nx107 Wb/ A -m)
T E B (1) 6.53x 102 VIR (2) 13.25x 10O VPR
(3) 9.6x10° YRR (4) 1.04x 1073 VFmR
MA (28 3cC 4D i
. o . 63. There are two charges +1 microcoulombs and
58. When a resistance wire is passed through a die the cross— +5 microcoulombs. The ratio of the forces acting on them

section area decreases by 1%, the change in resistance of
the wire is

(1) 1% decrease (2) 1% increase

(3) 2% decrease (4) 2% increase

IR AR B TTE W [ORA W AU BT B &TBA |
1% B HH & O T @ IR B YRR A
(1) 1% @ ¥ 8 (2) 1% B gig B
(3) 2% @ HH B (4) 2% P gfg B

will be

T 3MAY +1uC TF +5uC TH TR I FF 30 W R |
[T W W arel gl BT AT B

M1:5 @1:1  (3)5:1  (41:25
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64. The ratio of momenta of an electron and an @ — particle 69. A capacitor is charged by using a battery which is then
which are accelerated from rest by a potential difference disconnected. A dielectric slab is then slipped between the
of 100 Vis plates, which results in
—5-@!—@-1;[ g & pHo BT AR ¥ 100 V RAWaraR gRT @Rd (1)t Rte_dlug_tfi?n of charge ct>rr11 thletplates and increase of
N N potential difference across the plates
W ITH FAM BT g & (2) Increase in the potential difference across the plate,
reduction in stored energy, but no change in the charge on
(1)1 @ [2Me @) [Me (&) |Me ihe plates & g g
Mg Me 2m, (3) Decrease in the potential difference across the
plates, reduction in the stored energy, but no change in
65. The magnetic induction at centre O due to the the charge on the plates
arrangement shown in fig.- (4) None of the above
fersrgar fam T e @ b= w FESE 8 BT A TH GRS BT IS gRT ARG XD I B fAwwg B
gl o o =T | WS B ufgwrel B @9 Sssdfiee (@A)
Iz WH ¥, e werawy
0 (1) GuiR= ufgerell W omdw ¥ N dur ufgenl W
R _ fraie & gf B
(1) Mo (4 (2) Ho (Z)WT%‘cb‘l_ Gﬁtr\’ﬁl]_fnﬂ'\’ﬁ Qf%’,'ﬂ%!_ﬁ Tt { FH, W
4nr 4 fEmre W endw § S gRadT & e
3) “—0'(1—11) () Ko (S)meﬁtmmﬁw,ﬁﬁawiﬁﬁ,m
4nr r Ufghrel B AN W BIS gRTS & e
66. ABC is an equilateral triangle. Charges +q are placed at 4) SR # I B A8
ERER :orner. ThEEsstne |nten:lty ACRilLhe 70. A condenser of capacity 50 uF is charged to 10 volts. Its
(1) % @_1 a energy is equal to
Aneg Ameg 1 (1) 2.5 x 10-2 Joule (2) 2.5 x 10 Joule
(3) Zero (4) 1 3q (3) 5 x 102 Joule (4) 1.2 x 10-8 Joule
4neg 12 50 wF eRT & Yo FIR= HT1 10 doe war<R a®
amafia fosar a1 8, @1 SHH ol Brft
4
(1) 2.5x10° v (2) 2.9x107 5
-8
. (3) 5x1072 @ 1:2x10 g
Y CEE———— D+q
B 5 ¢ - PART - Il (CHEMISTRY) 91T - Ill RErA f3gm)
ABC & |¥aTg B B | T TR +q AT I@T T . ;
Atomic masses (WA ¥R) :[H=1,D=2,Li=7,C=12,N=
21 g 0o W Iga &= @ dgar B _
1 14,0 =16, F=19, Na=23, Mg =24, Al =27, Si=28, P=31,
M Lﬂz 2 4—3 $=32,Cl=355 K=39 Ca=40, Cr=52 Mn= 55, Fe=56,
ey e T Cu =635, Zn = 65, As = 75, Br = 80, Ag = 108, | = 127,
@) ™ @ _1 ig Ba = 137, Hg = 200, Pb = 207]
4ney r " " "
67. Which of the following could not produce a virtual image SECTIQN ' (MaXImum Maiksi- 80 )
(1) Plane mirror s : (G:Iﬁ'IW 3 : 90)
(2) Convex mirror %  This section contains THIRTY (30) questions.
% gﬁ’?ﬁavi mirror g ol %  Each question has FOUR options (1), (2), (3) and (4).
[the above can produce a vritual Image ONLY ONE of these four option is correct.
T A R D] UV AR GRifaE TE a | %  For each question, darken the bubble corresponding to the
(1) FHde <o correct option in the ORS
2) 9T U < Marking scheme :
@) < oy »  Full Marks : 3 If only the bubble corresponding to
() T § the correct option is darkened
(4) Tt e ufdfew 9 B » ZeroMarks : 0 If none of the bubble is darkened
. . . > Negative Marks : 0 In all other cases
68. Total internal reflection occurs in waves, when wave o

enters-

(1) Glass from air (2) Air from vaccum

(3) Water from air (4) Air from water

P T § gl a=Re wrade SuRea g wafd

TR

(1) I & B F g™ B F|
@) fyata & arg # yaw s )
(@) I W T F yaw et ¥
@) el & arg F yaw el ¥

o,
SR X

R/
*

g

R/
*

o,
”n

39 @S # | (30) = B |

TP U H AR e (1), (2), (3) TAT (4) &1 57 =R

el 4 4 o9 t@ Ao w8 21

TAF U W, 98 ey & 7wy gagel @1 ol AR, TH.

H BTl B |

B IS

> T s - 3 AR e wd Reer & g ™ 7

> I EE 0 IS W RAwew 78 g A g (@raiq
ue IR B) |

> U e 0 I wl aRRefE
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Rate of formation of SOs; in the following reaction
2S02 + O2 —» 2803 is 100 g min'. Hence rate of
disappearance of Oz is :

=1 aififsar § 2502 + 02 —» 2503, SO & T H R
100 7 fAe-12 o 02 % RIgw 89 @) &% w& arf:
(1) 50 g min! (2) 40 g min~'

(3) 200 g min—! (4) 20 g min-!

The increase in volume of air, when temperature of 600 ml
of it, is increased from 27°C to 47°C under constant
pressure, is

Ife g1 & 600 ml w1 TUHE, AT @ W 27°C |
FITHY 47°C I} faan a1 g9a maaH # gfg &)

(1) 20 mL (2) 80 mL

(3) 40 mL (4) 500 mL

The molality of a sulphuric acid solution is 0.2. Calculate
the total weight of the solution having 1000 gm of solvent.
HoRIR® T faergT @ Arererar 0.2 €| o= &1 g
YR uReferd BT RraH 1000 gm feras 8 |

(1) 1000 g (2)1098.6 g
(3)980.4 g (4) 1019.6g

Solution having osmotic pressure nearer to that of an
equimolar solution of Ka[Fe(CN)e] is:

98 faea fS9®1 WRRY T19 Ko[Fe(CN)e] & THATR
faeras & T gwER B —

(1) Naz2SOq4 (2) BaClz

(3) Al2(SO4)3 (4) C12H22011

Moles of neutron present in 1.8 g H20 is

1.8 g WM W A, =ggI9 (neutron) & fha= AT 8T |

(1) 0.1 mole (2) 1 mole

(3) 0.8 mole (4) 16 mole

How many moles of potassium chlorate need to be heated
to produce 11.2 litre oxygen at N.T.P.
N.T.P. W 11.2 ofiex ifRioH 9 @ foag diefem

FoRE & fba @iel aazgsd & ?

KCIOs — KCI+ 302
2

(1) %mol (2) %

1 2
(3) 7 mol 4) B mol
Hydrogen was collected in one case over water and in
another over mercury in the same condition. In both
cases, the volume of the gas was the same. Then select
correct statement :
(1) Same amount of hydrogen collected in both case.
(2) The amount of hydrogen collected over the mercury is
greater.
(3) The amount of hydrogen collected over water is
greater.
(4) Can’t be predictable.

BTSIST B oid @ SR Ue Rufd § Jufed fear s &
7 g 9RRefy # e=a Rufy § erggiom @ 968 @
R gufed fear srar &1 S Reiftal & 9 @1 emes
TAM B T4 FE BUFT BT aAT BITI—

(1) S aRRefY # erssom @) wEE A |ued e
(2) 7 R FURT BIFSI B A MWD B |

(3) I R FURT BIFEIOT B AT D B

(4) BE1 FE S AT B

In the equilibrium reaction 2HI (g) : Hz + 2 which of
the following expressions is true ?

e AR 2HI () == Hz + L &, /=1 § @ P
&oTh HE B
MKe=Ke (QKe=2Ko (3)Ko>Ke (4)Ke= Ko (RT)?

79.

80.

81.

82.

83.

84.

* ok Kk k
e A K
ekl
64 gm of an organic compound has 24 g carbon and 8 g
hydrogen and the rest is oxygen. The empirical formula of
the compound is ]
Prdfh AfNH B 64 gm H BT B 24 g, TESINIT B 8 g
ToT 9y Sffio i suRerd & @ Adife @1 Aerganh

A T B |
(1) CHsO (2) CH20
(3) C2H:0 (4) None of these (374 q &I =T8))

The value of Planck’s constant is 6.63 x 10-34 Js. The
velocity of light is 3 x 108 m/sec. Which value is closest to
the wavelength of light with frequency of 8 x 10% sec™?
@ik ReRid &1 A1 6.63 x 107 Js ¥ USRI &I 47
3 x 108 Hiex/APTs 8| Al TR AT b B
JMIRY 8 x 1015 Fhve' & FHT & ?

(1)5x 108 m (2)4x 10°m

(3)3x107m (4)2 % 10-%m

Select correct statement

(1) In the decomposition of an oxide into oxygen and
solid/liquid metal, entropy increases.

(2) Decomposition of an oxide is an endothermic change.
(3) To make AG° negative, temperature should be high
enough so that T AS° > AH®.

(4) All are correct statements.

& FUT PG ?

(1) To ffawargs &1 fQee sifaxiarT @2 sia/ga o1g A
B ® T TR geel B

(2) UF sifevrgs @1 faered U FoAmemdt aRad= & |

(3) AG® BT KUITHP B+ & oIy, ATAM T Swa il
ARG R T AS® > AH® B |

(4) SWRIFd aH) BT T B

Three faradays of electricity was passed through an
aqueous solution of iron (Il) bromide. The mass of iron
metal (at. mass = 56 u) deposited at the cathode is :
AR (Il) THISS B TP Toilg o § & 3 BIS B
g yaifsd & 1 P W amRA uig w1 el
A 7T B : (Fe &1 WRAY R = 56 u)

(1)56g (2)844¢

(3)112 g (4)168 g

A substance on treatment with dilute H2SO4 liberates an
irritating colurless gas which produces a blue colour on a
filter paper moistened with potassium iodate and starch
solution and white precipitate with baryta water. These
reactions indicate the presence of :

e ueref, I H2S0s & 1 IU=RA &Y W TS d9
SO B arell TEH T S Bl B | Wit WiefRnm
AMATST qA W e § Wi fheex o3 B7 el BIA
T T NIzl Od B A GBS J@Y IOdl & A
Ffdfhams et 7 & fw @ Suufy & gafd 7

(1) COz* (2) SO3*

(3) S~ (4) NO2-

Which of the following structure is most expected for the
molecule XeOF4 ?

(1) Tetrahedral (2) Square pyramidal

(3) Square planar (4) Octahedral

XeOF,; a17] & fog i # 4 o= oifde w1y a=am
BRI

(1) THADT
(3) I TMHR

(2) TeR fRifAfeae
(4) I<HADTT
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03 SAMPLE TEST PAPER

85. Which of the following facts about
[Cr(NH3)s]Cls is wrong ?
(1) The complex involves d2sp® hybridisation and is
octahedral in shape.
(2) The complex is paramagnetic.
(3) The complex is an outer orbital complex.
(4) The complex gives white precipitate with silver nitrate
solution. L o
Pt Cr(NHa)s]Cls & W # o aedl § q Bi9 a2
Ted B 7
(1) PIFITT BT d2sp’ THUT § T FHBI ACHABIT ITHR
gl
(2) DI ITLEBIT B |
(3) P TP aTel Afded Brad 2 |
@) Do RicR g & fAome & A Aoha @ey o B |

86. Which is most stable oxidation state of Pb ?
Pb &) Taiftis e Aferiipror Iaeen Bl g 2
(1) +4 (2) +3 (3) +2 (4) +5
87.  The correct order of size of the gaseous ions is :
AT I & ATHIX HT T HH 8 -
(1) Li* > Be2* > Na* > K*
(2) Na* > K* > Li* > Be2*
(3) K* > Be2* > Na* > Li*
(4) K* > Na* > Li* > Be2*

the complex

88. Which of the following pairs of elements belongs to
representative group of elements in the periodic table?
(1) Aluminium and Magnesium
(2) Chromium and Zinc
(3) Argentum and Astatine
(4) Lanthanum and Thorium ) )
71 § 9§ @ w1 P W, oEd aRoh § q@l @
R @z 9 F9fa ¢ 2
(1) vgfafem qen iRrm (2) wiftes T e
(3) aroted de TRerdH (4) o=T[ qar MRTH

89. The correct order of the increasing ionic character is :
TS TY ATAMG I &7 FE HA ¢
(1) BeCl2 < MgCl; < CaClz < BaClz
(2) BeCl2 < MgCl; < BaClz < CaClz
(3) BeCl2 < BaCl; < MgClz < CaClz
(4) BaClz2 < MgCl; < CaCl2 < BeClz

90. Which of the following molecule will not show zero dipole

moment :
1 9 freT feya ameel gy & g -
(1)CHs  (2)CCls (3)CO2  (4) CHzCl2

91. The beta and alpha glucose have different specific
rotations. When either is dissolved in water, their rotation
changes until the some fixed value results. This is called :
(1) epimerisation (2) racemisation
(3) anomerisation (4) mutarotation

dieT vd vewl e d v faftre geie & SR urn
Sl &1 oid {6 v b1 W § uien o g, o g
T A 99 96 gReEdd a1 &0 2 99 996 S & g%
fYad a9 & Rom @@Is) o 9 & 9| 39 UHH

Bl BEd T

(1) TUHRBROT (2) ¥R

(3) TAFRIBRET (4) TgeRITH
92. Product of Gabriel pthalamide reaction is :

(1) 1° Amine (2) 2° Amine

(3) 3° Amine (4) Amide

faa demss affHar &1 SWE § —

(1) 1° T (2) 2° vHF

(3) 3° TAA (4) TS

93.

94.

95.

96.

97.

98.

99.

100.

Which of the following will react fastest with Lucas
reagent?

1 4 9 o9 wgora afeds § e 9 A sem?
CHs OH
M CHy-C~CH;-OH (2) CHs—CH-CH;

CHs;
3 I 4) CHs-OH
( )CH3—(IJ—CH3 (4) CHe=

CH
Reaction o? hydrogenbromide with propene in presence of
peroxide gives:
(1) 1-Bromopropane (2) 2-Bromopropane
(3) 1,2-Dibromopropane. (4) 2,2-Dibromopropane
RiFarse B SuRAf § e sarss o IdE & a
fohar w® w1 S R -
(1) 1-sEET (2) 2-9E9N=
(3) 1,2-STSSIAEHT (4) 2,2-SISHHETYT

Which of the following compound will not give haloform
reaction with I / KOH ?
(1) acetaldehyde (2) 2-propanol
ggoentane-&one (4) acetone .

A HHA DRF L/ KOH B AT gaArmi rfifshan
T& @ g ?
(1) WeeSEss (2) 2-Wu=Te
(3) U=F-3—_1 (4) T
On heating calcium propionate, the product formed is

(1) 3-Pentanone (2) 2-Pentanone

(3) 3-Methyl-2-butanone (4) Propanone
%f'%rmm Hifteie & T o w, fAffa sarg

(1) 3-g=Ht= (2) 2-9=ATT
(3) 3727 (4) Ao

Which can be obtained as a product directly from aldol
condensation

I P SAE Tooldl WeME AIAfhar & gyoue
T g ¥

(0]
AP
(1) CHs-C )
\H
0
@) CHs—CH=CH—C< @ MCH3
H

In above compound total number of 2° hydrogen atoms

are:
SWRIFT AfE # 2° FFSOT RATRT B Fol & B
(13 (2) 18

@6 @se

Order of K of following acids is :

forfofRad amell BT Ko @ a H gafRerd & :

HC=C-CH, -COOH CH, = CHCH,COOH CH;CH,COOH
0} (I )

M r>1>1i @)1n>1>1l

@G)Yn>n>l @ 1>

Which of the following can be oxidised to ketone ?
(1) t-butyl alcoho | (2) 2—butanol

g;l—_butanol (4) 2—Propanol
A 9 s dfeiiex g™

P B ALl Bl § ?
(1) - Tepretd  (2) 2-FeHre
(3) 1—geHta (4) 2-9u=te
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ANSWER KEY TO SAMPLE TEST PAPER-3 569. A thick mirror forms a number of images. Image is formed
by front surface which is unpolished and hence, reflects
1. 2 2 (2 3. (2 a. @) 5. 3) only a small part of light, while second image is formed by
6. @) T (4) 8. (3) o. @ 10. (3) polished surface which reflects most of intensity. Hence
1. (1) 12. (1) 13. (2) 14. (4) 15. (3) second image is brlghtest
16. (2) 17. (4 18. (3) 19. (1) 20. (4) e Al g 9gd ¥R uffF g9 § vem wfafew
2. (2) 22 (4 23. (4 24 (1) 25 (1) UM (front) T8 & g9aT & fowa wiferer 98 B & o
% M 27 @ B G B0 B o @1 die W o wRid @ § e fdw
3. (2) 37. (2) 38 (4 39. (1) 40. (1) sfafers diferr e & @ & Rraw daa o1 sfwr
41. (2) 42. (1) 43. (1) 44. (2) 45 (2) AT WERia g § o fgda ufifees awasten Bam g |
46. (2) 47. (3) 48. (1) 49. (1) 50. (3)
0@ 2@ s 0 sn e e B0. I path diference A = (S51 + $10) = (85: + S:0) = mh
61. (2) 62 (4 63 (2) 64 (4 65 (1) n=0, 1, 2, 3, .... the central fringe at O is a bright fringe
66. (3) 67. (4) 68. (4) 69. (1) 70. (1) ) ) 1
71. (4) 72. (3) 73. (4) 74. (3) 75. (3) and if the path difference A =N —E A, n= 1, 2, 3,
76. (2) 77. (2) 78. (1) 79. (1) 80. (2
81. (4) 82. (2) 83. (2) 84. (2) 85 (3 the central bright fringe will be a dark fringe.
86. (3) 87. (4) 88. (1) 89. (1) 90. (4 I GATRR A = (SS1 + S10) — (SS2 + S20) = N n=0,
91. (4) 92. (1) 93. (3) 94 (1) 95 (3) 1,2,3 .. @O W s e TAdEN 8 R IR
96. (1) 97. (3) 98. (3) 99. (1) 100. (2) 1
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-3 k A :(n _Ej B = 1a 285 e fet reh
41. Internal forces canot change velocity but can do work. Bl |
JaRes g 91 B uRafia 98 & ¥ dfdT sl @
GERd : -
Yo 2mi 7 2n xi
oy - - -~ - ~ 62. =i 00 = —_—
42. W =Fs=(5+4]).(6i—5]+3K) =30 -20 =10J Bt ¢ = 2o0=10" x 52510 1
. -3
49. With rise in current in coil A flux through B increases. =i=1.04x10"A
According to Lenz's law repulsion occurs between A and
B. 63. The same force will act on both bodies although their
agu::;@ﬁ A¥ YR 9619 W B 9 I9g —ﬂﬁrqﬂ'a FoTed gl directions will be different.
a9 o B PIMIER A R B @ & afvedor 8 S TRl WA a9 ST B wan e fm
SATEITAT BT |
52. Att= 0 current through L is zero so it acts as open circuit.
The given figures can be redrawn as follow. Lo i g i Lo i
t=0WL Y yafed g1 I BN gAY IE Gol uRTY B, o e, = —.—(n+1)
P! TRE FIER B I W o B g7 1 W T T
R R i
68. For TIR medium at refraction must be rarer.
E lE E - Tf aRe wiad ® fod ot Awmd fRa @
R ATED B~
S S S
_ B . 1 2 q2
0) (i (i) 69. q=CV andvd U=—CV?=_"—
2 2C
; ; E : E
iy =0 == I3 =—5
R R 12 1 6 2 3
Hence 31T: i2 > i3 > i1. 70. U=§CV =§><50><10’ x(10)° =2.5x10"J
6 ’ 6 30
54, —=—— —=—" = R=40 d .
R x-¢ R 20 . a [SOs] = 100 gram / min
E,l, = —— mole/ min = 1.25 mole/min.
55. n%=T . x100 80
™ -1 d -d 1d
— — [S0O2)= — [0j] = — — [SOg]
2 dt dt 2 dt
5§7. Electric lines of force never intersect the conductor. They —-d
are perpendicular and slightly curved near the surface of —— [02] = ——— mole/min
conductor. dt 2
fEa 9@ Yol Ares B dred T8 21 A w39 qAAS DY 125

HIE B FIA U9 FIE D Aorald A A BT B 2 |

x 32 gram/min = 20 gram/min
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c  3x108
Vv, 'V, 80. A=—=—="r=375x10"m.
72. == v 8x10
T‘I T2
T2 32 81. (1) When the oxide undergoes a phase change, there will
soVo= —= V= x 600 ml = 640 ml be an increase in the entropy of the oxide.
T, 30 A,
. . _ _ _ (2) It is true statements, HgO Hg + 1/202
S increment(H: ﬁ) = (640 - 600)ml = 40 ml (3) For a reduction process the change in the free energy,
AG® must be negative and to make AG® negative
73. m=0.2mole/ kg temperature should be high enough so that TAS? > AHC.
weight of solvent = 1000 gram
weight of solute = 0.2 x 98 = 19.6 gram (1) 9@ T ifearss e uRadd € oRdT § 9
Total weight of solution = 1000 + 19.6 = 1019.6 ml. SIS P TR 4§ I |
! A
m = 0.2 I / kg (2) T8 & F& HUT E|1HgO — 7 Hg + 1/202
faemae &1 ¥R = 1000 9H (3) TP IJUgId UHH @ oY o SHof uRadd AGO
fIer BT R = 0.2 x 98 = 19.6 UM FOMHEG B AMBY TAT AG® BT FUMHAS a9 B forg
frera @1 go ¥R = 1000 + 19.6 = 1019.6 ml WA A e @ Ay e TAS? > AHC # |
. - : : . 1
74. Osmotic pressur.e will be same for equimolar solutions if 82. Mole of Fe deposited = — x 3 = 1.5 mole
Van't Hoff factor is same. 2
FAM qre B OIS T TEATOR ATl BT ORMER Wee = 1.5 x 56 = 84 gm.
T FHE B | 1
) Fed Mafig Al = — x3 =154
K4[Fe(CN)s] > i=1+(n-1)a=1+4=5 2
Al(SO4)3 — i=1+(n-1)a=1+4=5 Wee = 1.5 x 56 = 84 gm.
=1.59V Ans.
3
76. KCIO3 > KCl+ — O
2 83. SOs* +2H* — > SO T+ H0
mole or 33.6 litre O2 from 1 mole KCIO3
11.2 litre of O2 formed by mole KCIO3 580: + 2103~ + 4H20 > 1o + 58042 + 8H*
KCIOs — > KOl + 3 0» Ba(OH)2 + SO; —” BaSOs! + H,0
2
3 84. Steric number of Xe =5 + 1 (bond pair + lone pair)
= Arer a1 33.6 °fer 02 1 A KCIO3 I 99T & | Hence hybridization will be sp3d? and shape will be square
2 pyramidal.
3 Xe B WIS T (Steric number) = 5 + 1 (I8 TH +
11.2 AR ozaﬂ?ﬁ%=§1ﬁa KCIOs & T )
31T FHVOT sp3d2 B AT A TR fARifAfse B
—
78. 2HI (@) ~—— H2 + 12
An=2-2=0
% Kp = K (RT)%n 87. When we move along a group the size increases and
= Kp =K (RT) across a period size decreases.
© Ko=Ke T : 99 B TP GYE (@) H TW F 9 TN 7 T4 IMHR
g ¥ TAT TP AT A 9 A R O R ATHR T
gl
79. C H o
mass 24 8 32 88. The elements of s-block and p-block are collectively
24 8 32 known as representative elements.
moles E T ﬁ Al — p-block element and Mg — s-block element.
. 5 8 5 Cr — d-block element and Zn — d-block element.
ratio 1 2 1 Ag — d-block element and At — p-block element.
H ical f lais CH:O La —f-block element and Th — f-block element.
- ence emperica ‘gm“ j’_:s o sA® TN p-eiis & Tl BT YA ©Y A G e
QAN 24 8 32 8 lv o
Al — p-<ii Tc@ AT Mg — s-<alidp <
et 24 8 32 Cr — d-wifeh TIcd AAT Zn — -l dIed
12 1 16 Ag - d-<eifE T TAT At — - e
SERIN] 2 8 2 La - f-=dii e A1 Th — f-welies ed
1 4 1
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89. As size of cations increase, their polarising power
decrease and thus ionic character increase.
gAH &1 AHR 99 ¥ SAD! YATHIV 91 T AT
T ra: amafe e 9g ST 2
90. CHCl2 will have resultant dipole moment. Rest all have
symmetrical structure and so , zero dipole moment.
CH.Cl, aRem+t faga amepet @ | oy o wwfia |=am
T & T gafey ¥ fgya smeet 8w
91. The B and a-glucose have different rotations. When either
is dissolved in water, their rotation changes until the some
fixed values results. This is called mutarotation.
o - D - glucose (+111°) open chain at equilibrium
(+ 52.5°) B-D - glucose (+19.2°)
B TN ot P UM Twid ¥ W9 3T wia |
HIell W & 9@ YOI @p Rer A @ wior uRafda
grar g | o aRacdt ‘EM:T (mutarotation) HET ¥ |
a-D- TP (+111°) T W gl @ &1 fakne
UM (+ 52.5°) B-D - @I (+19.2°)
92. Only 1° Amine is produced by Gabriel pthalamide reaction.
Bl 1° THE A Jermrgs Affhar < ¥
93. Lucas reagent react with alcohol order of rate of reaction
is 3° > 2° > 1° Alcohal.
e ANeHs TepEia d T afifra & ) & ww
# a1 FRaO ¥ 1 30> 2° > 1° Yeplard |
95. pentane-3-one does not give haloform reaction with Clo/
KOH.
UCH-3—3T Cl/KOH & &1 gelmprd aifdfan 8 e
B
o N T
96. [CH3CH2—é—O ,Ca— > CH3—CHa—C-CHy ~CHs 4 cac 05
97. Aldol condensation reaction yield B-hydroxy
aldehyde/ketiones or a,B-unsaturated carbonyl
compounds.
2° 20
98.
20
99.  On the basis of | effect. (| T4 & IR W)
100. 2° alcohol on oxidation gives ketone.
2° TepIEll ® ATRAPROT & DI g 8l & |
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